
Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
000 333 417 1801 Sealing O-Ring  Ø48mm x 1.5   $9.30 While supplies last
000 333 553 0501 Sealing O-Ring  Ø20mm x 1     $9.30 While supplies last
000 735 167 0065 Plastic Nut (M25*1.5)         $10.30 While supplies last
0050001400 SAFETYM VALUE 0.5 BAR         $120.00
0050001900 Hose Clamp                    $5.20
0100000900 SAFETY VALVE 14.5 PSI FGR     $64.00
0100001000 Set Repair Material           $153.00 While supplies last
0100001600 SAFETY VALVE G 1/2", 14.5 PSI $99.00
0100001700 GAUGE                         $103.00
0100004000 16 ft Red Inflation Hose - QA $139.00 While supplies last
0100004100 16 ft Yel Inflation Hose - QA $139.00 While supplies last
0150002901 Foot Pump Hose, 3'            $114.00
0150005300 Safety Valve LTA7A (1.5 bar)  $26.80
018-1103-73-0 Screw, BHCS, 10-32 x 3/8      $7.30
018-1104-42-0 Screw, RD SL 10-32 x 1/2 Chrme $8.30 While supplies last
0350038500 Coupling 1/4" Outer Thread    $198.00
050 001 021 1210 Terminal Box Cover            $24.80 While supplies last
050 001 023 0100 Capacitor Housing Tube w/Oring $28.90 While supplies last
050 001 023 0300 Capacitor Housing Cover       $18.60 While supplies last
050 100 021 0120 Terminal Box (Bottom)         $33.00 While supplies last
0800001900 CONNECTOR 6512-6-M5           $12.40
0800002100 GAUGE 0-145/116 PSI           $75.00
0800002200 SAFETY COUPLING R 1/2" ET, OP $103.00
0800002300 SAFETY VALVE 116 PSI (FITTING) $99.00
0800005800 INLINE RELIEF 116 PSI         $165.00 While supplies last
0800005900 SAFETY COUPLING R 1/4" ET, OP $75.00
0800006700 GAUGE 0-145/116 PSI, FGR      $110.00
0800006800 Safety Valve, G1/4, 116psi    $114.00
0800010001 Connection Hose 8-bar Foot Pmp $56.00
0800011200 Spare Parts Kit (ValvControlr) $223.00 While supplies last
0800018500 Housing Upper Part w/ Stickers $314.00
0800018700 DBL blk deadman lower housing $7.30
097-0160-01-0 WASHER, LOCK SPLIT #10 ZINC   $7.30
1000000300 Safety Valve, G1/2", 145 psi  $349.00
1000000700 Coupling, R 1/4" ET, S-Tec    $155.00
1000000900 Hose coupling 0.35 inch       $110.00 While supplies last
1000001000 Male Nipple, 1/4", Steel S.Tec $39.20 While supplies last
1000001600 Gauge, Test & Ventilation Head $110.00
1000006300 145 to 116 S-Tec Adapter      $153.00 While supplies last
1000012100 Connection Plate              $454.00 While supplies last
1000013100 Accessories Case w/Wheels    > $563.00 While supplies last
10-103-4100 Seal Kit  Nipple (HURST)      $143.00 While supplies last
101R053 Adapter Ring                  $336.00
101R073 Streamline MALE Adapter to QDs $544.00 While supplies last
101R076 Europe to US Adapter Plug     $28.90 While supplies last
101R077 USB to Serial Adapter Plug    $28.90 While supplies last
102R011 401 LOCTITE ADHESIVE (.10 OZ) $28.90 While supplies last
105C049 Hurst SP333 Arm Sub-Assembly  $1,173.00
105C051 Hurst SP555 Arm Sub-Assembly  $973.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
105C053 Hurst SP777 Arm Sub-Assembly  $1,016.00
105R019 40" Spreader Arm              $417.00 While supplies last
105R025 ARM MINI SPREADER             $505.00
105R039 Defender 28 Arm w/PB          $464.00 While supplies last
106R005 Rabbit Tool Carrying Bag      $305.00
106R025 HOSE BAG                      $83.00 While supplies last
108R022 MiniLite Spreader Pivot Bar   $406.00
108R024 Challenger Pivot Bar          $557.00
108R028 Pivot Bar                     $431.00
108R035 MOC Combi Pivot Bar           $491.00
108R042 JL-500 Pivot Bar              $538.00
109C021 AD-60 Battery Analyzer        $3,430.00 While supplies last
109R013 BATTERY CHARGER LKE 55        $594.00
110000071 Read Instructions Decal       $8.30 While supplies last
110000071S HP Warning Decal (10 pack)    $20.60
110000072 Directional Decal             $8.30 While supplies last
110000073 Ram Directional Decal-HoseLine $14.50 While supplies last
110000075 S120 Directional Decal        $24.80 While supplies last
110R010 Pedal Cutter Blade            $204.00
110R027 MiniLite Cutter Top Blade     $647.00 While supplies last
110R028 MiniLite Cutter Bottom Blade  $645.00 While supplies last
110R043 SC757 Combi Blade             $575.00
111010010S SP310 Cover Kit               $64.00
111010040 SP310 Hand Guard              $163.00 While supplies last
111010040S SP310 Hand Guard Kit          $108.00
111010050S SP 310 Handle Kit             $192.00
111010055_P SP-310 Handle (Wide)          $155.00 While supplies last
111010061 COVER                         $35.10 While supplies last
111010062S SP 510 Block Cover kit        $1,669.00
111010070S Hurst SP310 Decal Set         $26.80
111010074 Hurst SP310 Arm Decals (4)    $30.90 While supplies last
111010097 Ø24 Retaining Rings (10pk)    $28.90
111030020S SP 510 Hand Guard kit         $202.00
111030050C Handle, SP 510 & SP 512       $186.00 While supplies last
111030050S SP51x Front Handle Kit        $242.00
111030070S SP777 HP HURST LABEL KIT      $130.00
112000002C S120 Live Blade               $689.00 While supplies last
112000002S S120 Live Blade Replacement   $689.00
112000003S S120 Fixed Blade Replacement  $561.00
112000009S S120 Piston Kit (Old Style)   $709.00
112000012S S120 Center Bolt Cplt         $122.00
112000013S S120 Lever Bolt Kit           $33.00
112000015S S120 Guiding Ring Kit         $248.00
112000021S S120 Cylinder Body Kit        $769.00
112000042 S120 Guard                    $91.00 While supplies last
112000042S Protective Cap                $12.40
112000058 DPVC Piston Modified S120     $24.80 While supplies last
112000058S S120 Check Valve Service Kit  $83.00
112000090 S120 Thrust Washer            $14.50 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
112001070S Lukas S120 Cutter Label Set   $161.00
112001096 S120 Service Package 2        $54.00
112001099 S120 Cutter Seal Kit          $347.00
112010005S 3xx Series Hand Guard Kit     $126.00
112010050S Series 3xx Front Handle Kit   $83.00
112020070S SC358/312 HP Label Kit        $58.00
112060045S Hand Guard S5xx Cutters Kit   $161.00 While supplies last
112060055S Front Handle 5XX Cutter Kit   $124.00
112C161 MINIMATE SIMO STREAMLINE BLOCK $643.00
112C162 P620 SG PUMP FLANGE           $1,813.00
112R094 DPCV C RAM MANIFOLD           $464.00
112R102 HOSE REEL PILLOW BLOCK        $190.00
112R139 SIMO Manifold Block USAF      $1,595.00
112R141 MiniMate Selector Block       $542.00
112R142 MiniMate ISV Block            $907.00
112R144 Streamline Simo Valve Block   $1,307.00 While supplies last
112R149 Streamline Selector Valve     $3,663.00
112R150 Streamline Simo Valve Assy    $2,215.00
112R159 MiniMate Simo Valve Assy      $2,390.00
112R164 Series 6 Simo Valve Assy (QD) $2,442.00
112R165 Trimo Valve Assy QD VERSION   $2,238.00
112R168 Streamline Selector Valve Assy $2,196.00
112R172 MINI MATE SIMO VALVE ASSY QD  $2,852.00
113040010 SC 550 Front Handle           $136.00 While supplies last
113040010S SC 550 Handle Replacement Kit $136.00
113R013 SC757 Center Bolt             $365.00
113R014 SC757 Center Bolt/Nut Assy    $456.00
114030001C Ø70 Cylinder Pipe (R420/430)  $707.00 While supplies last
114030001S R 430 Ram body Kit            $540.00
114040008C Pressure Pipe Clamp (HP Rams) $30.90 While supplies last
114040008S T-Ram Pressure Tube Ret. Kit  $110.00
114040009 Pressure Pipe (R420/430)      $81.00 While supplies last
114040009S R 420 Presssure Tube Kit      $227.00
114040013_P Cylinder End Cap (R42x/R430)  $592.00 While supplies last
114040013S Ram End Cap Kit (R42x/430)    $616.00
114050070S Lukas R422 Ram Label Set      $64.00
114060001C Ø70 Cylinder Pipe (R424)      $647.00 While supplies last
114060009 Pressure Pipe (R424)          $95.00 While supplies last
114060009S R 424 Pressure tube Kit       $244.00
114070070S Lukas R430 Ram Label Set      $41.20
115010010S Hurst P620-IG Reservoir Kit   $670.00
115030010 HP MiniMate Reservoir (Gray)  $192.00
115030010S P620 SG Reservoir Kit         $211.00
115030072 HP MINI MATE SIMO DECAL       $41.20 While supplies last
115201001 M32 x 1.5 X M14 x 1.5 Adapter $73.00
115300100S Contol Valve Block (P640-Sx)  $1,335.00
115320051S P640 Frame Kit                $219.00
115400100S Trimo Manifold QD Block Replc $2,909.00
116100002S SHR/DHR Hose Reel Disc Kit    $248.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
116100094 Mounting Set for Carry Handle $45.40
116100095 Servicepack 2 - DHR           $22.70
116100100S Bent Tube Assembly            $73.00
116703000S Blue .5M Conn Hose w/Blue Kink $122.00
116703001S Blue .3M Conn Hose w/Blue Kink $122.00
116706000S Grey .5M Conn Hose w/Grey Kink $139.00
116706001S Grey .3M Conn Hose w/Blck Kink $122.00
1170065 RIGHT HAND HANDLE BRACKET     $89.00
1170066 LEFT HAND HANDLE BRACKET      $89.00
117R022 30/60B SUPPORT HANDLE         $24.80
117R070 MOTOR SUPPORT BRACKET         $14.50
117R092 COVER BRACKET                 $143.00
117R100 THROTTLE CONTROL BRACKET      $225.00
117R159 Dual Air Cylinder Carrier     $670.00
117R164 Frame Bracket Weldment        $487.00 While supplies last
1180009 BUSHING                       $54.00
119050000 Control Valve eDraulic (1.0)  $713.00 While supplies last
119051000 eDraulic Control Valve (2.0)  $831.00 While supplies last
119051000S E2 Control Valve              $666.00
119110000 CONTROL VALVE                 $814.00 While supplies last
119110000S Valve Block - SP310           $728.00
119110011S Star Grip Kit                 $256.00
119110201S HP Tool Rear Handle Kit >>    $134.00
119120000S SP51x Control Valve Replacment $742.00
119210000 Control Valve (EN 700 bar)    $789.00 While supplies last
119210000S Cutter/Combi Valve Block      $456.00
119210010S Rear Handle Kit (Blue)   >>   $62.00
119210011 Control Valve Repair Kit      $176.00
119210100S Control Valve Kit (R410/412)  $1,370.00
119220000 Control Valve (EN 700 bar)    $621.00 While supplies last
119220000S Valve Block SC350/550         $707.00
119230000 Spool Valve, HP TelescopicRams $581.00 While supplies last
119230100S HP R42x /R430 Control Valve Kt $623.00
119250000 SP300/S120/S700  Spool Valve  $612.00 While supplies last
119250000S S700/SP300/S120 Control Valve $660.00
119420000S Gate Block   (R422 Ram)       $954.00
119420001_C HP T-Ram Manifold Block       $110.00 While supplies last
119421000S R414 T-Ram Block Kit          $831.00
119430000S Gate Block - SP510 & SC Combi $1,117.00
119430001_C D.P.C.V BLOCK, SP 510         $122.00 While supplies last
119440000S Gate Block - SP310            $785.00
1200001000 Male Nipple, 1/4", Steel S.Tec $60.00 While supplies last
1200004300 Adpter 174psi, Safe Vlv 145psi $182.00 While supplies last
1200006700 Inline relief 174 psi 1' >    $198.00 While supplies last
1200007100 12bar to 8bar Pressure Reducer $285.00 While supplies last
1200015000 Swivel Joint VCB 12 bar       $103.00 While supplies last
121R005 PEDAL CUTTER END CAP          $373.00
121R041 MOC Spool Valve End Cap       $112.00
121R043 Spool Valve End Cap           $421.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
121R049 X-Tractor Combi End Cap       $487.00
121R051 MOC COMBI END CAP             $427.00
121R090 LP Streamline Dust Cap -Male  $41.20
121R091 LP Streamline Dust Cap -Female $41.20
121R093 Cap, white, heat seal         $5.20 While supplies last
121R100S Bladder Fitting Cap (25 pack) $6.20
123C146 StrongArm Transport Case      $672.00 While supplies last
123R027 RAM ATTACHMENT CASE           $114.00 While supplies last
126R032 Orange Nylon Hose Clamp       $5.20 While supplies last
126R033 Green Nylon Hose Clamp        $5.20 While supplies last
126R034 Blue Nylon Hose Clamp         $5.20 While supplies last
1280008 Quick Disconnect Connector    $54.00
128C110 10K HP Streamline Couplng Kit $328.00
128C112 10K HP Streamline Nipple Kit  $328.00
128C125 10K Univ. S-line Coupling Assy $476.00 While supplies last
128C126 10K Universal S-line Coupling $443.00 While supplies last
128R028 CGA 347 ADAPTER ASSY          $369.00
128R031 3/8 NPT FEMALE COUPLING 6n1   $28.90
128R032 3/8 NPT MALE COUPLING  6n1    $28.90
128R038 3/8 NPT AIR FITTING           $9.30
128R050 10 000 PSI Q.D. NIPPLE        $85.00
128R051 10 000psi Q.D. Coupling       $223.00
128R104 5K Streamline Coupling Assy   $592.00
128R106 5K Streamline Nipple Assy     $483.00
128R114 Streamline ThreadedCoupling 5K $553.00
128R118 5K SL Retrofit Nipple Kit -QDs $328.00 While supplies last
128R119 5K S-Line Coupling Kit w/Guard $328.00 While supplies last
128R120 5K Streamline Coupling (P650) $538.00 While supplies last
130C048 Lukas P650 Left Side Panel    $89.00
130C049 Lukas P650 Rear Side Panel    $89.00
130C052 Lukas P650 Right Panel (S-AC) $89.00
130C053 Lukas P650 Front Side Panel   $87.00
130C054 Lukas P650 w/Reel Panel       $89.00
130C057 Lukas P650 w/Reel Right (Man) $91.00
130R034 DPCV Cover                    $47.40
130R039 Streamline Hose Cover         $28.90
130R040 Reservoir Cover Modified      $427.00
130R041 Reservoir Cover Modified Trimo $322.00
130R045 Left Side Panel Assy (Diesel) $794.00
130R046 Right Side Panel Assy (Diesel) $660.00
1314005100 Safety Nipple                 $26.80 While supplies last
1320001 TOOL  DECAL                   $20.60 While supplies last
1320003 Hurst Decal, Large 1.5 Letters $8.30
132C074 Hurst HP Warning Decal        $22.70 While supplies last
132C078 Hurst HP/Centaur Fluid Decal  $16.50 While supplies last
132C173 Decal, Hurst High Pressure    $20.60
132C200 LUKAS Serial Data Tag (US)    $16.50 While supplies last
132C212 Charge Level Decal (eDraulic) $8.30 While supplies last
132C216 eDRAULIC Decal                $8.30 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
132C216S eDRAULIC Decal small (pack)   $81.00
132C221 Hurst HP Decal (Large)        $9.30 While supplies last
132C221S HURST JoL large Decal -10 pack $35.10
132C222 Hurst HP Decal (Medium)       $10.30 While supplies last
132C222S HURST Jol (Med.) Decal (Pack) $22.70
132C224 SP333 Arm Decals              $14.50
132C224S SP333 Arm Decal Set (Pack)    $139.00
132C225 SP555 Arm Decals              $6.20
132C225S SP555 Arm Decal Set (10 pack) $49.50
132C226 eDRAULIC Decal (Large)        $9.30 While supplies last
132C226S eDRAULIC large Decal (10 pack) $16.50
132C229 SP777 Arm Decals Set          $8.30
132C229S SP777 Arm Decal Set (Pack)    $66.00
132C237 Tool Conversion Tag           $9.30 While supplies last
132C238 E3/EWXT Serial Data Tag       $14.50
132C239S Freshwater Decal Long-10 pack $12.40
132C240S Freshwater Decal Short-10 pack $14.50
132C241S E3/EWXT Casing Decal Set >    $211.00
132C245S E3 Watertight Decal(long,Pack) $260.00
132C246S E3 Watertight Decal(s, Pack)  $12.40
132C247S E3 eDRAULIC Decal (sml, Pack) $24.80
132C248S E3 eDRAULIC Decal (lg, Pack)  $24.80
132R001 Hurst Decal (Medium 1 1/8")   $9.30 While supplies last
132R006 Decal, Small Gold Foil        $22.70
132R009 Warning Decal                 $7.30
132R010 DECAL MULTI-TOOL MNFLD BLOCK  $20.60 While supplies last
132R013 MANIFOLD W/DUMP VALVE DECAL   $20.60 While supplies last
132R015 ATTACHMENT KIT DECAL          $20.60 While supplies last
132R024 HURST DECAL (BLACK LETTERS)   $22.70 While supplies last
132R025 RED INFLATE/DEFLATE DECAL     $11.40
132R026 Blue Inflate/Deflate Decal    $10.30
132R027 MTM DECAL                     $18.60 While supplies last
132R043 POWER UNIT WARNING DECAL      $11.40
132R044 HOT SURFACE WARNING DECAL     $9.30
132R045 FLAMMABLE MATERIAL DECAL      $9.30
132R046 INHALATION HAZARD DECAL       $14.50
132R047 SM. HURST DECAL 13/16 LETTERS $9.30
132R050 Warning Decal                 $14.50
132R067 THROTTLE CONTROL DECAL        $10.30
132R087 SV MANIFOLD DECAL             $20.60 While supplies last
132R089 AIRBAG CONTROLLER DECAL       $11.40
132R091 Decal, Blade Directional      $9.30
132R094 DECAL, ASV TOOL OPERATION     $16.50 While supplies last
132R095 DECAL, ASV PRESSURE/DUMP      $18.60 While supplies last
132R096 DECAL, ASV HOSE SIDE          $24.80 While supplies last
132R098 ML-28 Arm Decals (Set of 2)   $41.20 While supplies last
132R126 Hurst Blue Hyd Fluid Label 55 $30.90 While supplies last
132R157 Streamline Selector Decal     $28.90
132R158 Streamline Selector Decal     $28.90

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
132R159 Streamline Selector Decal     $28.90
132R160 Streamline Selector Decal     $41.20
132R161 Streamline SIMO Decal         $28.90
132R162 Streamline SIMO Decal         $28.90
132R163 Streamline SIMO Decal         $28.90
132R164 Streamline SIMO Decal         $24.80
132R165 Streamline TRIMO Decal        $22.70 While supplies last
132R166 Streamline TRIMO Decal        $22.70 While supplies last
132R167 Streamline TRIMO Decal        $26.80 While supplies last
132R168 Streamline ISV Decal          $16.50
132R169 Streamline ISV Decal          $20.60
132R170 Streamline ISV Decal          $16.50
132R171 Streamline ISV Decal          $14.50
132R178 MINIMATE SIMO PRESSURE/DUMP   $16.50 While supplies last
132R179 MINIMATE SIMO PRESSURE/DUMP   $16.50 While supplies last
132R182 KL-32 Arm Decal (Set of 2)    $24.80 While supplies last
132R188 Hurst Serial Number DataTag   $14.50 While supplies last
132R205 Hurst Blue ONLY Fluid Decal   $26.80 While supplies last
132R207 P650 Exhaust Warning Decal    $10.30 While supplies last
132R209 EPA DataTag                   $14.50 While supplies last
132R210 Lithium Ion UN3480 Labe, ED > $5.20 While supplies last
132R211 Hurst Wrap Decal, eDraulics   $52.00 While supplies last
132R218 6k Airbag Regulator Decal     $6.20 While supplies last
132R219 Battery Ship-Restriction Decal $3.10 While supplies last
132R227 P650 Ethanol Warning Decal    $5.20 While supplies last
132R230 P635 Ethanol Warning Decal    $14.50 While supplies last
132R231 P635 Hydraulic fluid Decal    $6.20 While supplies last
132R233 LP Ram Cylinder Decal         $18.60 While supplies last
132R234 LP Spreader Cylinder Decal    $16.50 While supplies last
132R235 LP Spreader Arm Decal Set     $14.50 While supplies last
132R236 JL500 Cylinder Decal          $14.50 While supplies last
1420047 Fitting, Hex Bushing, 3/8-1/4 $14.50
1420049 MALE ADAPTER FITTING          $11.40
1420056 FITTING WITH EPR O-RING       $12.40 While supplies last
142C169 Adapter, 9/16-18UNC - M14x1.5 $99.00
142C170 Adapter,1/4-18NPT - M14x1.5   $235.00
142C221 Swivel Fitting w/O-Ring       $382.00 While supplies last
142R010 PIPE NIPPLE FITTING 1/4-18    $11.40 While supplies last
142R012 REDUCER FITTING               $16.50 While supplies last
142R014 FITTING 1/2-14                $277.00 While supplies last
142R017 DUMP VALVE STRAIGHT FITTING   $5.20
142R063 FITTING ADAPTER MALE 1/4-9/16 $14.50 While supplies last
142R065 FITTING- STRAIGHT THD UNION   $10.30
142R068 FITTING,3/8 NPT x 1/4 NPT MALE $14.50
142R069 ADAPTER-9/16-18X7/16          $14.50 While supplies last
142R091 5/32 TUBE x 1/4 NPT ELBOW     $35.10
142R092 5/32 Tube x #10-32 Elbow      $22.70
142R094 3/8 TUBE x 3/8 NPT FITTING    $18.60
142R108 3/8 NPT ELBOW                 $35.10

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
142R119 ELBOW ADAPTER                 $62.00
142R134 200/300 BAR ADAPTER NIPPLE    $336.00
142R140 3/8 NPT LIVE SWIVEL FITTING   $12.40
142R155 Mini-Cutter Swivel Fitting    $114.00
142R156 3/8 NPT x 1/4 NPT PIPE FITTING $16.50
142R159 Fitting, 7/16-20 x  M12x1.5   $47.40
142R160 7/16 x M14 x 1.5 Fitting      $66.00
142R198 Straight Threaded Swivel      $20.60 While supplies last
142R200 M12x1.5 x 1/4 ORFS Adapter    $14.50
142R211 Fitting, M14x1.5 X 9/16-18 ORB $16.50 While supplies last
145R140 Frame Side (Series 6)         $309.00 While supplies last
145R141K Series 6 Pwr Unit Frame Kit   $417.00
148R013 GAUGE                         $167.00
148R016 AIR GAGE (MODIFIED)           $66.00
148R028 Gauge, 0-6000psi Lower Mount  $58.00 While supplies last
1500007100 Acid Drain Hose 16' w/D-Storz $458.00 While supplies last
151R007 Mini Lite Spreader Guard      $155.00
151R008 Mini Lite Spreader Guard      $244.00
1530007400 O-Ring Set Screw              $30.90 While supplies last
155R030 P650 Ignition Wire            $24.80 While supplies last
155R031 P650 MicroSwitch to CasingWire $24.80 While supplies last
1600000100 COUPLING R 1/2", ET.OPEN      $62.00
1600007100 THREAD NOZZLE 1/4" IG/9 MM    $11.40
1600007700 Standard brass male coupler   $16.50
1600021200 ART Handle Screw              $30.90 While supplies last
1600032000 Pressure Regulator -to 4500psi $528.00 While supplies last
164R042 128R118 Bag Label             $7.30 While supplies last
164R043 128R119 Bag Label             $7.30 While supplies last
1700000700 HOSE NOZZLE, 9 MM             $7.30
1700001400 Knee 90, 1/2" Brass           $33.00
1700001700 Gauge Cap w/o Logo            $7.30
1700002700 COUPLING R 1/4", ET, OPEN     $58.00
1700011200 QUICK COUPLER, FEMALE, BRASS  $33.00
1700013300 BALLCOCK R-A-G, 1/2" PMS      $66.00
1700014200 CONNECTOR                     $20.60
1700021300 Nipple 1/4" internal thread   $33.00
1700026100 Hose Collar                   $14.50
1700058400 Manifold Assembly             $674.00 While supplies last
1700060100 On-Off Toggle Switch, 12V     $85.00
1700075300 Y-Adapter 12 bar Hurst        $176.00 While supplies last
170R006 Throttle Lever - Honda        $66.00
171010006S SP310 Link Kit (one side only) $239.00
171010007S SP310 Spreader Piston         $1,024.00
171010008S Guide Ring Kit                $474.00
171010100S Connection Hose – Blue (.5M)  $122.00
171010101S Connection Hose – Grey (.5M)  $122.00
171010103S Connection Hose – Blue (.3M)  $122.00
171010104S Connection Hose – Grey (.3M)  $122.00
171010250 Peeling Tip for SP300/310     $254.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
171030005S spreader arm (pre-assembled)  $1,523.00
171030006S SP510 Pivot Bar & Pins Kit    $1,022.00
171030007S SP510 Piston w/Glydring Kit   $598.00
171030008S SP510 Cylinder Sleeve Kit     $495.00
171030009S SP 510 Lever                  $357.00
171030096 SP510 Spreader Service Kit 2  $139.00
171030097 Ø28 Retaining Rings (10pk)    $26.80
171030098 SP5xx Special Pack #3 (10pk) > $26.80
171030099 SP 510 Service Pack #3        $52.00
171040005S Lukas SP512 Arm/Tip Set       $2,102.00
171040007S SP512 Piston Kit              $868.00
171040008S SP512 Cylinder Sleeve Kit     $396.00
171040070 LK SP512 Arm Decal (4 per Set) $26.80 While supplies last
171050001S SP300/SP300E Cylinder Kit     $827.00
171050002_P Piston, SP300/SP300E          $235.00 While supplies last
171050002S SP300/SP300E Piston Kit       $408.00
171050003_P Pivot Bar, SP-300(E)          $328.00 While supplies last
171050003S SP300/SP300E Pivot Bar Kit    $553.00
171050004_P Cylinder Pivot Pin, SP-300(E) $89.00 While supplies last
171050005_P Pivot Bar Pin, SP-300(E)      $81.00 While supplies last
171050007_P Protective Guard, SP-300(E)   $62.00 While supplies last
171050007S SP300E Hand Guards w/Screws   $223.00
171050008_P Handle SP300E                 $336.00 While supplies last
171050008S SP300E Handle w/Screws        $338.00
171050011_P Inner Tube SP-300(E)          $101.00 While supplies last
171050011S SP300/SP300E Inner Tube Kit   $89.00
171050016S SP300/SP300E Linkage Kit      $223.00
171050094 SP300E Spreader Seal Kit      $415.00
171050096 SP300E Spreader Service Kit #3 $71.00
171050099 SP 300E Service Kit #1        $47.40
171050107 Diamond Tip for PB arms       $254.00
171050200S SP300/SP300E Arm Kit          $480.00
171050203 Push Button Locking Ring      $16.50 While supplies last
171050205 Arm Push Button, Universal Tip $20.60 While supplies last
171050301S SP300E Hydraulic Pump Kit     $4,652.00
171051008 SP-300 Front Handle           $97.00
171051008S SP 300 Handle Kit             $91.00
171051070S LUKAS SP300 Set of Labels     $52.00
171051096 SP300 Spreader Service Pkg 2  $118.00
171051099 service package 1 SP300       $258.00
171051400S end cap (incl. control valve) $987.00
171080016S SP300E 2.0 Linkage kit        $291.00
171080094 SP300E 2.0 Service Kit #2     $194.00
171080096 SP300, SP777E2 Special Kit #3 $58.00
171080099 SP300E 2.0 Service Kit #1     $41.20
171080101S SP300E 2.0 Cylinder Kit       $660.00
171080102S SP300E 2.0 Piston w/Seals (HP) $437.00
171080104 Hand Guard, SP300E 2.0        $211.00 While supplies last
171080104S SP300E 2.0 Guards, Plugs & Har $163.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
171080105 Cylinder Pin, SP300E 2.0      $52.00 While supplies last
171080106S SP300E 2.0 Handle Kit         $213.00
171080300S SP300E 2.0 Hydraulic Pump Kit $3,002.00
171080310 SP300 2.0 Inner Tube          $43.30 While supplies last
171080310S SP300 2.0 Inner Tube Kit      $77.00
171081090 SP333 EWXT Seal Kit           $204.00
171081094 SP333 Seal Kit (E2 & HP)      $503.00
171081095 Ø12 X 15.5 Sealing Ring (20pk) $43.30
171081096 Torsion Spring kit (10pk)     $54.00
171081101 SP333 Cylinder                $1,426.00
171081101S SP333 Cylinder Seal Kit       $2,602.00
171081102 SP333 Piston                  $375.00
171081102S SP333 Piston Kit              $443.00
171081103 SP333 Pivot Bar               $406.00
171081103S SP333 Pivot Bar Kit           $579.00
171081104 SP333 Link                    $171.00
171081104S SP333 Pivot Link kit          $301.00
171081105 SP333 Pin                     $28.90
171081106 SP333 Cylinder Pin            $35.10
171081108 SP333 Cylinder Side Guard     $18.60
171081108S SP333 Cylinder Side Cover Kit $58.00
171081110S LUKAS SP333 Arm Replacement   $1,960.00
171081130 SP333 Cylinder Cover          $18.60
171081130S SP333 Cylinder Top Cover Kit  $54.00
171081131 SP333 Finger Guard            $33.00
171081131S SP333 Hose Finger Guard Kit   $83.00
171081210 SP333 Arm w/new push button   $890.00
171081300S SP333 E2 Pump Assy. Kit       $2,895.00
171081500 E2.5 Spreader Housing w/Elec  $1,113.00 While supplies last
171081530S SP333/555 Case Kit w/Hardware $921.00
171081600S SP333 Hose End Cap Assy. Kit  $1,677.00
171081604 SP333 Inner Tube              $64.00
171081604S SP333 Inner Tube Kit          $132.00
171081605 HP Rear Plastic Handle        $11.40 While supplies last
171081606 HP Rear Handle Washer         $9.30 While supplies last
171085016S SP310E 2.0 Linkage Kit        $237.00
171085094 SP310E 2.0 Service Kit #2     $219.00
171085099 SP310E 2.0 Service Kit #1     $10.30
171085101 SP310E2 Cylinder              $1,125.00 While supplies last
171085101S SP310E 2.0 Cylinder Kit       $1,420.00
171085102 Ø90mm Piston, SP310E 2.0      $380.00 While supplies last
171085102S SP310E 2.0 Piston w/Seals (HP) $509.00
171085103 Piston Plug, SP310E 2.0       $110.00 While supplies last
171085104 Hand Guard, SP310E 2.0        $211.00 While supplies last
171085104S SP310E 2.0 Guards, Plugs & Hdw $246.00
171085111 Front Handle, SP310E2 (Alum)  $14.50 While supplies last
171085111S SP310E 2.0 Handle Kit         $472.00
171085300S SP310E 2.0 Hydraulic Pump Kit $2,942.00
171085340 eDRAULIC 2.0 Bladder SP777E2  $37.10

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
171085340S SP777 BLADDER KIT             $190.00
171086090 SP555 EWXT Seal Kit           $163.00
171086094 SP555 Seal Kit (E2 & HP)      $377.00
171086101 SP555 Cylinder                $1,327.00
171086101S SP555 Cylinder Seal Kit       $2,316.00
171086102 SP555 Piston                  $380.00
171086102S SP555 Piston Kit              $538.00
171086103 SP555 Pivot Bar               $301.00
171086103S SP555 Pivot Bar Kit           $503.00
171086104 SP555 Link                    $77.00
171086104S SP555 Pivot Link Kit          $326.00
171086105 SP555 Pin                     $45.40
171086106 SP555 Cylinder Pin            $49.50
171086107 SP333/555 Cylinder Pin Cap    $24.80
171086107S Cylinder Pin Cap (4 pack)     $28.90
171086108 SP555 Cylinder Side Guard     $16.50
171086108S SP555 Cylinder Side Cover Kit $62.00
171086109 SP333/555/777 Shark Tooth Tip $647.00
171086110S LUKAS SP555 Arm Replacement   $1,636.00
171086113 Locking Bolt A (plate version) $35.10
171086113S PB Field Repair (ONE Arm) VB  $114.00
171086114 Locking Bolt B (plate version) $30.90
171086115 Field Repair Locking Bolt A   $52.00 While supplies last
171086115S PB Field Repair (ONE Arm) VA  $215.00
171086116 Field Repair Locking Bolt B   $101.00 While supplies last
171086117 Holding Plate Locking Bolt    $20.60
171086121 SP333/555 Hose Tool Handle    $285.00
171086121S SP333/555 Hose Tool Handle Kit $250.00
171086122 EWXT Handle, SPXXX            $237.00
171086123 SP333/555 eDRAULIC Handle     $242.00
171086123S Hurst SP333/555 E2 handle Kit $260.00
171086124S SP333/555 Hose Handle Kit     $324.00
171086130 SP555 Cylinder Cover          $20.60
171086130S SP555 Cylinder Top Cover Kit  $60.00
171086150 SP333/555 Gripping Pad        $54.00
171086150S SP333/555 Grip pad Kit        $242.00
171086151 SP333/555 Arm Shield          $45.40
171086151S SP333/555 Arm Shield Kit      $110.00
171086200 SP555 E3/EWXT Pump Assembly   $3,706.00
171086210 SP555 Arm w/new push button   $534.00
171086300S SP555 E2 Pump Assy. Kit       $3,441.00
171086330 30MPa Relief Valve Assy. Blue $89.00
171086600S SP555 Hose End Cap Assy. Kit  $1,333.00
171086604 SP555 Inner Tube              $35.10
171086604S SP555 Inner Tube Kit          $108.00
171086607S Relief Valve Set Kit          $342.00
171086620S set of check valves           $246.00
171086630S Service Filter Kit            $30.90
171087090 SP777 EWXT Seal Kit           $196.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
171087094 SP777 Seal Kit (E2 & HP)      $287.00
171087101 SP777 Cylinder                $2,456.00
171087101S SP777 CYLINDER KIT            $2,823.00
171087103 SP777 Pivot Bar               $283.00
171087103S SP777 PIVOT BAR KIT           $454.00
171087104 SP777 Link                    $79.00
171087104S SP777 LINK KIT                $977.00
171087105 SP777 Pin                     $52.00
171087106 SP777 Cylinder Pin            $77.00
171087108 SP777 Cylinder Side Guard     $24.80
171087108S SP777 SIDE GUARD KIT          $87.00
171087110S SP777 LUKAS ARM KIT           $1,259.00
171087121 Handle SP777 HP               $217.00
171087121S SP777 HP HANDLE KIT           $270.00
171087122 SP777 Piston                  $342.00
171087122S SP777 PISTON KIT              $480.00
171087130 SP777 Cylinder Cover          $30.90
171087130S SP777 CYLINDER COVER KIT      $71.00
171087150 SP777 Gripping Pad            $85.00
171087150S SP777 GRIPPING PAD-2 KIT      $211.00
171087200 SP777E3/EWXT Pump Assembly    $4,504.00
171087210 SP777 Arm w/New Push Button   $1,144.00
171087300S SP777 PUMP KIT                $3,811.00
171087350 SP777 eDraulic Bladder Shield $24.80
171087500 SP777 E2.5 Housing w/Elec     $1,377.00 While supplies last
171087530S SP777E2 Casing Set w/Hardware $1,144.00
171087600S SP777 HP ENDCAP KIT           $1,665.00
171087604 SP777 Inner Tube              $58.00
171087604S SP777 INNER TUBE KIT          $130.00
171255077S Battery Direction Decal (pack) $14.50
171R011 ASSY LINK (CHAMP)             $231.00 While supplies last
171R015 32B Shackle/Machined & Tested $824.00 While supplies last
171R042 LINK                          $307.00
171R043 Mini Lite Spreader Link       $118.00
171R045 CHALLENGER LINK               $870.00
171R048 LINK - MOC CUTTER             $223.00
171R052 MOC Combi Link                $268.00
172020099S S3xx/LS301EN Seal Kit         $81.00
172021090 S378 EWXT Seal Kit            $229.00
172021101 Cylinder, S378                $689.00
172021102 Piston S378                   $192.00
172021103 Pivot Bar, S378               $334.00
172021104S II-style link Kit, S378       $161.00
172021107 312 Cutter Blade              $639.00 While supplies last
172021107S S312E2 Blade Kit              $748.00
172021600S SC358 HP Endcap complete Kit  $1,597.00
172022093 SC358, S312 E2  Service Kit #3 $108.00
172022096 SC358, S312 E2  Service Kit #2 $223.00
172022099 SC358,S312 E2  Service Kit #1 $52.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172022101 Cylinder, S312 SC358 E2.0     $1,206.00
172022101S SC358, S312 Cylinder Kit      $1,521.00
172022102 Piston Rod S312 SC358         $586.00
172022102S SC358, S312 Piston Rod Kit    $963.00
172022103 Piston, S312 SC358 E2.0       $231.00
172022105 Pivot Pin S312 SC358          $47.40
172022106 Sliding Plate, S312 / SC358   $9.30
172022106S SC358,S312 Sliding Plate Kit  $16.50
172022107S S378 e3 Blade Kit             $1,455.00
172022110 S312/SC358 Center Bolt w/Nut > $211.00
172022114 Link S312 SC358 S377          $532.00
172022114S SC358, S312 Link Kit          $1,177.00
172022118 Blade Cover S312 SC358        $26.80
172022118S SC358 Hand Guard Kit          $106.00
172022119 Cylinder body plug S312/SC358 $7.30
172022130 Handle S312E2/SC358 HP        $225.00
172022130S SC358 HP Front Handle Kit     $264.00
172022132 EWXT Handle, S378-SC358       $285.00
172022134 Handle S312E2/SC358E2         $254.00
172022134S SC358E2 Front Handle Kit      $289.00
172022200 SC/S-3XX E3/EWXT Pump Assy    $4,434.00
172022251 EWXT/E3 Stargrip Pump Body    $73.00
172022252 Axial holder star grip        $22.70
172022257S Torsion Spring Seat EWXT(10pk) $515.00
172022258 Closed Shifting Quadrant E3   $52.00
172022259 Stargrip Valve Wheel          $12.40
172022260 E3 Sequencing Valve 700bar    $285.00
172022270 E3 Sequencing Valve 140bar    $281.00
172022300 Pump Assembly S312/SC358 E2   $3,610.00
172022300S SC358, S312 E2 Pump Kit       $3,676.00
172022420 EWXT Dash Board Only, Basic   $468.00
172022439S EWXT LED Harness (10 pack) >  $291.00
172022442 Magnetic field protector      $16.50
172022455 EWXT Data Cable               $47.40
172022465 EWXT Main PCB, Basic          $742.00 While supplies last
172022465S EWXT Main PCB Kit w/ Hardware $1,055.00
172022500 S312 SC358 E2 Casing w/Elect > $820.00
172022530S S312-S377-SC258-SC358 E2 Case> $491.00
172022604 Inner Tube S312/SC358         $43.30
172022604S SC358, S312  Inner Tube Kit   $114.00
172022707S Housing Clip (10 pack)        $149.00
172022710 E3/EWXT Housing L/R (S SC SP) $101.00
172022714 Dash Board, Housing           $10.30
172022720 EWXT Adapter Ring, SP555      $7.30
172022721 EWXT Adapter Ring, S799/SP333 $7.30
172022722 EWXT Adapter Ring, S788       $7.30
172022723 EWXT Adapter Ring, S378-SC358 $7.30
172022724 EWXT Adapter Ring, SC258      $9.30
172022730 E3 Dash Board, Premium        $441.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172022740S E3 Main PCB Kit w/ Hardware   $919.00
172024107 S377 Blade                    $736.00
172024107S S377 Blade Kit                $952.00
172040001S S5XX Cylinder Body Kit        $1,366.00
172040002S S5XX Piston Kit               $689.00
172040009_C Pivot Bar Pin (5xx Cutters)   $101.00 While supplies last
172040012S S-510 Cutter Blade Kit        $806.00
172040013 Sliding Plate, S5xx (Wider)   $16.50 While supplies last
172040013S S-5xx Sliding Plate Kit       $62.00
172040051 Center Bolt Assy (S5xx/SC5xx) $396.00
172041400S S-5xx Cutter End Cap          $905.00
172042090 S788 EWXT Seal Kit            $200.00
172042091 Inner Tube Seal Kit           $184.00
172042096  S788E2 Seal Kit >            $217.00
172042099 S788E2 Service Kit 1          $5.20
172042102 Piston, S788                  $526.00
172042102S S788 Piston Kit               $425.00
172042118 Blade Cover, S788             $47.40
172042118S S788/799/758 Protection Kit   $99.00
172042121 Cylinder New, S788            $1,622.00
172042121S S788 Cylinder Kit (Ø33 CB)    $1,506.00
172042126 Sliding Plate New, S788       $14.50
172042126S S788 Sliding Plate Kit-Ø33 CB $24.80
172042127 S788 Blade w/Zinc Phosphate   $719.00
172042127S S788 Blade Kit (Ø33 CB)       $827.00
172042130S S788E2 Handle Kit             $289.00
172042131 Handle New, S788E2            $281.00
172042132 E3/EWXT Handle, S788/S789     $242.00
172042134S S788HP Handle Kit             $254.00
172042135 Handle New, S788              $248.00
172042137S S788 e3 Blade Kit             $1,626.00
172042140 S788/SC758 Ø33 Ctr Bolt Assy  $392.00
172042200 S788/9 E3/EWXT Pump Assembly  $3,713.00
172042300S S788E2 Pump Kit               $3,818.00
172042500 S788 E2 Casing w/Elect >      $1,113.00
172042530S S788-SC758 E2 Case Kit >      $450.00
172042600S S788 End Cap Assy. Kit        $1,632.00
172042604 Inner Tube S788               $39.20
172042604S S788 Inner Tube Kit           $171.00
172043090 S799 EWXT Seal Kit            $441.00
172043096 S799E 2.0 Service Kit #2      $443.00
172043099 S799E 2.0 Service Kit #1      $4.20
172043101 Cylinder, S799                $1,762.00
172043101S S799E2 Cylinder Kit           $1,342.00
172043102 Piston, S799                  $478.00
172043102S S799E 2.0 Piston w/Seals (HP) $575.00
172043103 Pivot Bar, S799               $588.00
172043103S S799 2.0 Pivot Bar Assy (HP)  $664.00
172043106 Sliding Plate, S799           $39.20

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172043106S S799E2 Sliding Plate Set      $81.00
172043107 S799 Blade w/Zinc Phosphate   $878.00
172043107S S799 Blade Kit                $936.00
172043108 Link Pin S799                 $130.00
172043110 Center Bolt cpl. S799         $491.00
172043120 S799 Brass Wear Ring          $209.00
172043127 Link, S799                    $664.00
172043127S Link Kit  >                   $1,624.00
172043131 Handle New, S799              $328.00
172043131S S799HP Handle Kit             $332.00
172043132 EWXT Handle, S799             $375.00
172043134 Handle New, S799E2            $326.00
172043134S S799E2 Handle Kit             $351.00
172043137S S799 e3 Blade Kit             $1,525.00
172043200 S799 E3/EWXT Pump Assembly    $4,425.00
172043300 Pump Assembly S799 E2         $3,871.00
172043300S S799E 2.0 Hydraulic Pump Kit  $3,879.00
172043500 S799 E2 Casing w/Elect >      $1,092.00
172043530S S799 E2 Case Kit >            $462.00
172043600S S799 End Cap Assy. Kit -      $1,704.00
172043604 Inner Tube S799               $47.40
172043604S S799E2 Inner Tube Kit         $66.00
172044090 S789 EWXT Seal Kit            $515.00
172044107S S789 e3 Blade Kit             $1,529.00
172044124S II-style link Kit, S789       $380.00
172060012S S-530 Cutter Blade w/Plate    $1,397.00
172080006_P Sliding Plate (S700 / ML500)  $28.90
172080006S Sliding Plate Set (S700/E)    $62.00
172080008_P Link Pin (S700 / ML500)       $99.00
172080014_P Cover, S700                   $49.50 While supplies last
172080014S S700 Guards, Plugs & Hardware $79.00
172080015_P Cylinder Plastic Plug, S700   $14.50 While supplies last
172080016_P Handle, S700E                 $351.00 While supplies last
172080016S S700E Handle Kit              $355.00
172080022_P Inner Tube, S700              $62.00 While supplies last
172080022S S700/S700E Inner Tube Kit     $89.00
172080093 Service Kit 3 S700E           $87.00
172080096 S700E Cutter Service Kit #2   $227.00
172080099 S700E Service Kit #1          $43.30
172080101_P01 Cylinder, S700                $1,014.00 While supplies last
172080101S S700/S700E Cylinder Kit       $1,061.00
172080102_P01 Piston, S700                  $351.00 While supplies last
172080102S S700/E Piston w/Seals (HP)    $464.00
172080103_P01 Pivot Bar, S700               $608.00 While supplies last
172080103S S700/E Pivot Bar Assembly (HP) $614.00
172080104_P01 Link (S700 / JL500)           $305.00
172080104S S700/E Linkage Kit (HP)       $606.00
172080105_P01 Pivot Bar Pin (S700 / JL500)  $103.00 While supplies last
172080107_P01 Blade, S700 & JL-500          $631.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172080107S S700 Blades & Plates          $757.00
172080113_P01 Center Bolt Nut (S700 / ML500) $22.70 While supplies last
172080119 S700 Ctr Bolt/Nut (PreStrtchd) $380.00 While supplies last
172080201S eDraulic LED Mount w/Hardware $56.00
172080202S eDraulic Main On/Off Housing  $206.00
172080301S S700E Hydraulic Pump Kit      $2,955.00
172080302_P Eccentric Shaft 2,4mm         $120.00 While supplies last
172080303 Spacer Washer                 $22.70 While supplies last
172080304_P Shaft Nut                     $28.90 While supplies last
172080305_P Connecting Tube               $16.50 While supplies last
172080306_P Check Valve Plug              $16.50 While supplies last
172080307_P Piston Cap                    $28.90 While supplies last
172080309_P Bladder (E1.0)                $39.20 While supplies last
172080310S eDraulic Electric Drive       $719.00
172080311 Needle Bearing NK14/16 Polishe $73.00 While supplies last
172080318 Bladder Base (Molded)         $227.00 While supplies last
172080320_P Ø12mm Piston Assembly         $155.00 While supplies last
172080320S eDRAULIC 2 ND/LP Piston Kit   $380.00
172080330_P Ø6.5mm Piston Assembly        $159.00 While supplies last
172080330S E2 HD/HP Piston Kit           $468.00
172080340_P01 D.P.C.V.  (eDraulic)          $73.00 While supplies last
172080350 DPCV Assembly                 $62.00 While supplies last
172080366 Piston (Spring Version)       $26.80 While supplies last
172080366S Shuttle Piston Assy (Replc)   $106.00
172080402S E1 S/SC/SP Casing Kit w/Hdwr > $406.00
172080404S SP/Sxx E1 Rear Battery Slot   $130.00
172080405_P Rubber insert S700E /SP300E   $12.40 While supplies last
172080408 Strap belt S700E/S311E/SP300E $182.00 While supplies last
172080408S eDraulic Tool Strap Kit       $130.00
172080419S Lukas E1 Casing Kit w/E2 PCB > $882.00 While supplies last
172080430S E2 Electrical Harness Assy Kit $754.00
172081016S S700 Handle w/Screws          $342.00
172081094 Ø26 Retaining Rings (10pk)    $47.40
172081095 Set Screws, M6 x 6 (10pk)     $33.00
172081096 S700 Cutter Service Pkg 2 (HP) $64.00
172081098 Screws, M3 x 6 (50pk)         $26.80
172081099 S700 Service Package 1 (HP)   $281.00
172081400 S700 End Cap Assembly         $1,037.00 While supplies last
172081400S S700 Endcap Assy w/Rel Valves $1,364.00
172085070 Lukas E2 Casing Decal Set     $33.00 While supplies last
172085070S Lukas Label Set eDraulic 2.0  $87.00
172085071 E2 Directional Decal          $9.30 While supplies last
172085072 Lukas Play Button Decal Set   $12.40 While supplies last
172085073 Lukas E2 Small Decal          $11.40 While supplies last
172085093 S700E 2.0 Service Kit #3      $66.00
172085096 S700E 2.0 Service Kit #2      $233.00
172085098 S700E 2.0 Special Kit #3      $43.30
172085099 S700E 2.0 Service Kit #1      $20.60
172085101 Cylinder, S700E 2.0           $2,293.00 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172085101S S700E2 Cylinder Kit           $1,148.00
172085103 Pivot Bar, S700/S788          $419.00
172085103S S700 2.0 Pivot Bar assembly (H $651.00
172085105 Pivot Bar Pin, S700 2.0       $83.00
172085106S S700E2 Sliding Plate Set      $28.90
172085108 Hand Guard, S700 2.0          $41.20 While supplies last
172085108S HandGuards, Plugs & Hdwr  >   $91.00
172085109 Cylinder Body Plug, S700 2.0  $10.30
172085110 Front Handle, S700 2.0        $301.00 While supplies last
172085110S S700E2 Handle Kit             $433.00
172085122 Piston, S700E 2.0             $330.00 While supplies last
172085122S S700E 2.0 Piston w/Seals (HP) $503.00
172085124 Link, S700E2/788/E2           $355.00
172085124S Link Kit  >                   $777.00
172085300S S700E 2.0 Hydraulic Pump Kit  $2,551.00
172085310S S700E2/SC357E2 Inner Tube Kit $56.00
172085324 eDRAULIC 2.0 Check Valve      $52.00 While supplies last
172085324S E2 Set of check valve         $153.00
172085325H E2 Shuttle Piston Assy (Replc) $77.00
172085326 Piston (Spring Version 2.0)   $20.60 While supplies last
172085327 E2 DPCV Pressure Piece        $14.50 While supplies last
172085335 E2.0 Spreader Relief Valve B  $118.00 While supplies last
172085338 Relief Valve B w/O-RING       $108.00 While supplies last
172085338S ED/SA Relief Valve Kit        $130.00
172085340 eDRAULIC 2.0 Bladder          $47.40 While supplies last
172085340S eDRAULIC 2.0 Bladder Kit  >   $114.00
172085341 eDRAULIC 2.0 Bladder Flange   $49.50 While supplies last
172085351 Shaft Nut (E2.0)              $30.90 While supplies last
172085352 Ø2.4mm Eccentric Shaft (E2.0) $126.00 While supplies last
172085352S E2 Eccentric Shaft            $194.00
172085353 Bearing Spacer (E2.0)         $11.40 While supplies last
172085400 eDRAULIC 2.0 Motor Assembly   $888.00 While supplies last
172085400S eDraulic 2.0 Electric Drive  > $699.00
172085404S E2 Rear Battery Slot Replcemnt $110.00
172085430S eDRAULIC 2.0 PCB Replacement  $380.00
172085435S E2 Wiring Harness Kit no PCB > $330.00
172085500 E2.0 Casing w/Electronics >   $1,459.00 While supplies last
172085510S E2 Housing Filter Service Kit $83.00
172085530S E2.0 Body Casing w/ Hardware > $468.00
172090001S S311E/SC350E Cylinder Kit     $802.00
172090002 S311E Piston                  $400.00 While supplies last
172090002S S311E Piston Kit              $466.00
172090003_P01 SC350E Pivot Bar              $369.00 While supplies last
172090003S S311E/SC350E Pivot Bar Kit    $435.00
172090016S S311E Handle w/Screws Kit     $293.00
172090020S S311E/SC350E Hand Guard Kit   $81.00
172090022S S311E Inner Pipe Kit          $116.00
172090070S Set of labels S311E (LUKAS)   $87.00
172090093 Service Kit 3 S311E           $41.20

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
172090094 S311E/350E Retaining Ring Kit $20.60
172090095 S311E/SC350E Service Kit #2   $28.90
172090096 S311E Cutter Service Kit #2   $110.00
172090099 S311E/SC350E Service Kit #1   $24.80
172095020 Hand Guard S311 SC357 E2      $58.00 While supplies last
172095093 S311E 2.0/SC357E 2.0  Service $87.00
172095096 S311E 2.0 Service Kit #2      $155.00
172095101S S311E 2.0 Cylinder Kit        $987.00
172095102S S311E 2.0 Piston w/Seals (HP) $266.00
172095103S S311E 2.0 Pivot Bar assembly  $283.00
172095104S S311E 2.0 Linkage Kit (HP)    $1,251.00
172095106 Blade, S311 (All Versions)    $629.00 While supplies last
172095107 Link Pin, S311 E2.0           $52.00
172095109 Ø28mm Center Bolt w/Nut Cplt  $136.00 While supplies last
172095300S S311E 2.0 Hydraulic Pump Kit  $2,924.00
172095310S S311E 2.0 Inner Tube Kit      $87.00
173000004S Guide Ring Kit                $126.00
173000015S Hand Guard SC250E (Blue)      $101.00
173010002S SC350E Piston Kit             $487.00
173010096 SC350E Combi Service Kit #2   $122.00
173010301S SC350E Replacement Pump Assy  $3,364.00
173015010S Front Handle, SC250E          $318.00
173023090 SC358EWXT Seal Kit            $77.00
173023106 SC358 Blade w/Zinc Phosphate  $641.00
173023106S SC358 Blade Kit               $732.00
173023117S SC358 Tip Set Kit             $1,906.00
173023118 SC358 Arm Tip Pin > old design $43.30
173023136S SC358 e3 Blade Kit            $1,267.00
173025093 SC250E 2.0 Service Kit #3     $143.00
173025096 SC250E 2.0 Service Kit #2     $147.00
173025101S SC250E 2.0 Cylinder Kit       $606.00
173025102S SC250E 2.0 Piston w/Seals (HP) $553.00
173025110S SC250E 2.0 Handle Kit         $200.00
173025300S SC250E 2.0 Hydraulic Pump Kit $2,948.00
173025310S SC250E 2.0 Inner Tube Kit     $77.00
173028090 SC258EWXT Seal Kit            $120.00
173028097 SC258 Service Kit 2           $139.00
173028098 SC258 Special Kit 2           $26.80
173028099 SC258 Special Kit 4           $16.50
173028101 Cylinder, SC258               $824.00
173028101S SC258 Cylinder Body Kit       $1,136.00
173028102 Piston Rod SC258              $740.00
173028102S SC258 Piston Kit              $1,144.00
173028103 Piston, SC258                 $176.00
173028105 Pivot Pin SC258               $49.50
173028105S SC258 Lever Kit               $796.00
173028107S SC258 Blade kit               $684.00
173028108S SC258 Sliding Plate Kit       $77.00
173028110 SC258 Center Bolt w/Nut Cplt  $186.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
173028110S SC258 Center Bolt Kit, cpl    $159.00
173028118 Blade Cover SC258             $33.00
173028118S SC258 Protective Cover Kit    $91.00
173028119 Cylinder body plug SC258      $10.30
173028132 EWXT Handle, SC258            $312.00
173028134 Handle SC258E2                $312.00
173028134S SC258E2 Handle Kit            $277.00
173028137S SC258 E3 Blade Kit            $1,261.00
173028200 SC258 E3/EWXT Pump Assembly   $4,986.00
173028604 Inner Tube SC258              $37.10
173028604S SC258 Inner Tube Kit          $58.00
173032005_C SC357/352 Combi Blade         $612.00 While supplies last
173032005S SC357/352 Single Blade Kit    $616.00
173032006 Pivot Bar Pin Ø22 SC357       $52.00 While supplies last
173032008 Link SC357                    $938.00 While supplies last
173032008S SC357E2 Lever                 $654.00
173037002S SC357 Piston Kit              $686.00
173040096S Service Package  (SC550HP)    $33.00
173040099S Seal Kit   (SC 550)           $281.00
173045096 SC357E 2.0 Service Kit #2     $147.00
173045101S SC357E 2.0 Cylinder Kit       $1,131.00
173045102 Pivot Bar/Piston Rod, SC357 E2 $623.00 While supplies last
173045102S SC357E 2.0 Piston w/Seals (HP) $623.00
173045103 Piston, SC357 E2.0            $215.00 While supplies last
173045111 Cylinder, SC357E 2.0          $606.00 While supplies last
173045300S SC357E 2.0 Hydraulic Pump Kit $3,638.00
173047005S SC557 Blade w/SlidingPlate Kit $1,333.00
173047094 SC757E2 Special Kit 1         $155.00
173047096 SC757E2 Combi Service Kit 2   $231.00
173047099 SC757E2 Service Kit #1        $68.00
173047105S SC757E2 Blade Arm Kit         $600.00
173047110 SC757 Piston Rod              $940.00
173047110S SC757E2 Cylinder Body         $1,080.00
173047111 SC757 Piston                  $219.00
173047111S SC757E2 Piston Kit            $1,348.00
173047112 SC757 Distance Ring           $141.00
173047113 SC757 Sliding Plate           $33.00
173047113S SC757E2 Sliding Plate         $87.00
173047114 SC757 Pivot Bar Pin           $91.00
173047114S SC757E2 Lever Kit             $1,053.00
173047130S SC757E2 Aluminum Handle Kit   $627.00
173047140S SC757E2 Pivot Bolt            $373.00
173047230 SC757 Front Handle (Aluminium) $627.00
173047300S SC757E2 Hydraulic Pump & Ctrl $3,638.00
173047400S SC757E2 Set of Tips           $1,817.00
173049090 SC758EWXT Seal Kit            $180.00
173049096 SC758 Service Kit #2          $242.00
173049099 SC758 Service Kit #1          $3.10
173049101 Cylinder, SC758               $1,527.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
173049101S SC758 Cylinder Kit            $1,294.00
173049102 Piston Rod, SC758             $750.00
173049102S SC758 Piston Kit              $1,352.00
173049104 Link, SC758                   $654.00
173049104S SC758 Link Kit                $1,593.00
173049105 Pivot Pin, SC758              $85.00
173049106 SC758 Blade w/Zinc Phosphate  $322.00
173049106S SC758 Blade Kit               $1,381.00
173049107S SC758 Tip Set Kit             $1,348.00
173049128 Pulling Attachment Pin, SC758 $35.10
173049131S SC758 HP Handle Kit           $252.00
173049132 EWXT Handle, SC758            $375.00
173049135S SC758 E2 Handle Kit           $546.00
173049136S SC758 e3 Blade Kit            $2,738.00
173049200 SC758 E3/EWXT Pump Assembly   $4,666.00
173049300S SC758E2 Hydraulic Pump Kit    $3,138.00
173049600S SC758 End Cap Assy. Kit       $1,278.00
173055001S SC250M Cylinder Body Kit      $732.00
173055008_P02 Link, SC250 (LKE55)           $289.00
173055008S SC250E2 Lever                 $456.00
173055009_P02 Link / Blade Pin SC250x       $45.40
173055013S SC250M Handle/Grip Replacement $250.00
173055019S SC250M Replacement Handle Kit $145.00
173055020S SC250M Protection Hose Kit    $71.00
173055050S SC250M Valve Actuator Kit     $171.00
173055099S SC250M Seal Kit               $186.00
173100072 LUKAS Rear Housing Decal      $5.20 While supplies last
173100073 S.A. Rear Handle Decal (LUKAS) $2.10 While supplies last
173100074 Play Button Pump Decal (Lukas) $4.20 While supplies last
173100075 LUKAS Pump Side Decal         $4.20 While supplies last
173100076 LUKAS Pump Bottom Decal       $3.10 While supplies last
173180070S Label Kit (LE100 Lukas)       $71.00 While supplies last
173180073 LUKAS Cylinder Decal          $3.10 While supplies last
174010002 Valve Flange (R410 - R415)    $357.00 While supplies last
174010002S R 410 Ram End Cap Replacement $377.00
174010007S T-Ram R410 Base Claw Kit      $355.00
174020003S Pressure tube Kit             $75.00
174020007S T-Ram R412/R414 Base Claw Kit $353.00
174030003S R 414 Pressue tube            $103.00
174040001 Front Tip, T-Rams             $91.00
174040003S R430 Ø70 Piston Seal Kit      $1,193.00
174040004S T-Ram Plug Kit                $77.00
174040005S R 420 Fluid Supply            $285.00
174040099 R42x Ram Seal Kit             $206.00
174050001S R422 T-Ram Piston Rod #1 Kit  $870.00
174050002S R422 T-Ram Piston Rod #2 Kit  $822.00
174050003S T-Ram Fluid Supply Kit w/Seals $287.00
174060001S R424 Piston Rod 1 Rplc Kit    $2,157.00
174060002S R 424 Piston 2 (pre-assembled) $423.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
174060003S R 424 Fluid Supply            $332.00
174070002S R430 Ø45 Piston Seal Kit      $837.00
174070003S R430 Piston Rod 3 Kit         $1,162.00
174070004S R430 Front Claw Kit           $186.00
174080003_P01 Housing Cover Plate R411E     $18.60 While supplies last
174080004_P01 Housing Cover Right Side      $161.00 While supplies last
174080004S R411E Cover Kit w/o Harness   $355.00
174080005_P01 Housing Cover Left Side       $161.00 While supplies last
174080006_P01 eDRAULIC 1 Wire Harness  >    $645.00 While supplies last
174080006S R411E Electronics Control Kit> $726.00
174080093 R411E Extension Claw ORing Kit $22.70
174080094 R411-E Base Claw O-Ring Kit   $28.90
174080095 R411E Service Kit #3          $20.60
174080096 R411E Ram Service Kit #4      $43.30
174080098 R411-E Service Kit 2          $126.00
174080099 R411E Service Kit #1          $231.00
174080102S R411E Cylinder Endcap Kit     $406.00
174080103_P01 Inner Tube R411E              $171.00 While supplies last
174080104_P01 Piston R411E                  $56.00 While supplies last
174080104S R411E Piston/Rod Kit          $757.00
174080105 Piston Rod R411E              $474.00 While supplies last
174080106S R411E Front Claw Kit          $130.00
174080108_P01 Claw Tap Foot R411E           $24.80 While supplies last
174080108S R411E Base Claw Kit           $194.00
174080109S R411E Pressure Pipe Kit       $254.00
174080116 Snap Ring, Claw R411E         $28.90 While supplies last
174080117_P01 Cylinder Adapter R411E        $435.00 While supplies last
174080117S R411E Cylinder Head Kit       $573.00
174080120S R411E Cylinder Kit            $660.00
174080130 Rubber Tank R411E             $919.00 While supplies last
174080130S R411E Bladder Kit             $913.00
174080300S R411E Pump Assembly Kit       $4,347.00
174080404S R411E Battery Casing Kit      $169.00
174082105 Ram Piston Disc               $66.00
174082108 Clamping ring (small)         $89.00
174082117 Clamping ring (large)         $97.00
174083101S R521 Cylinder (w/ expanders)  $1,920.00
174083102 Inner Tube R521               $103.00
174083103 Piston rod 52 R521            $878.00
174083104 Piston rod 35 R521            $742.00
174084090 Ram EWXT Seal Kit             $151.00
174084101S R522 Cylinder (w/ expanders)  $1,988.00
174084102 Inner Tube R522               $235.00
174084103 Piston rod 52 R522            $919.00
174084104 Piston rod 35 R522            $767.00
174084251 EWXT/E3 Ram Stargrip Pump Body $87.00
174084300 E3/EWXT Ram pump assembly     $3,601.00
174084302 EWXT/E3 Ram Pump Piston Body  $45.40
174084500 RAM EWXT/E3 Housing L/R cpl  > $386.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
174085070S LUKAS R421E2 Set of labels    $47.40
174085071 R421E2 Directional Decal      $18.60 While supplies last
174085093S R421E2 Special Kit 1          $217.00
174085098S R421E2 Service kit 2          $223.00
174085099S R421E2 Service kit 1          $221.00
174085101 R421E2 Cylinder               $1,513.00 While supplies last
174085101S R421E2 Ram Body               $1,774.00
174085102 R421E2 Ø35mm Piston Rod       $450.00 While supplies last
174085102S R421E2 Piston Rod 35          $546.00
174085103 R421E2 Ø52mm Piston Rod       $623.00 While supplies last
174085103S R421E2 Piston Rod 52          $651.00
174085104 R421E2 Oil Supply Ring        $93.00
174085105 R421E2 Piston                 $68.00 While supplies last
174085106 R421E2 Inner Tube             $169.00 While supplies last
174085106S R421E2 Oil Supply             $295.00
174085117 R421E2 Rod Cap                $79.00
174085117S R421E2 Rod Cap                $126.00
174085119 R421E2 Cylinder Base          $231.00 While supplies last
174085119S R421E2 Cylinder Base          $206.00
174085120 R421E2 Bladder Tank           $56.00 While supplies last
174085120S R421E2 Hydraulic Reservoir Kit $209.00
174085121 R421E2 Small Clamping Ring    $49.50 While supplies last
174085122 R421E2 Large Clamping Ring    $54.00 While supplies last
174085131 R421E2 Claw Capture Screw     $8.30 While supplies last
174085131S R421E2 Claw Capture Screw Kit $223.00
174085134 R421E2 Claw                   $103.00 While supplies last
174085134S R421 Claw (2 pack)            $206.00
174085135S R421E2 Claw Kit               $122.00
174085300 R421E 2.0 Pump Sub-Assembly   $2,703.00 While supplies last
174085300S R421E2 Hydraulic Pump Kit     $2,998.00
174085330 R421E2 Relief Valve           $130.00 While supplies last
174085330S R421E2 Relief Valve           $110.00
174085350 Ø8mm Piston Assembly          $106.00 While supplies last
174085350S R421E2 HP Piston Kit          $289.00
174085435S R421E2 Wiring Harness w/o PCB> $326.00
174085500 R421E2 Casing w/Electronics   $1,000.00 While supplies last
174085510S R421E2 Service Kit Filter     $79.00
174085530S R421E2 Case w/Hardware  >     $588.00
174085540S R421E2 Battery Slot w/o PCB   $130.00
174088119 R410E2 Cylinder Base          $303.00
175021097 Service Package 1 (620 IG/OG) $89.00
175021100S Terminal Block                $3,424.00
175030100S Pump Assembly                 $3,521.00
175030102 VALVE STEM                    $49.50
175030103 VALVE STEM LEFT H THREAD      $49.50
175030104 Knob                          $18.60
175031001C HANDLE, P620 SG               $101.00 While supplies last
175031001S Hurst P620SG Handle Kit       $45.40
175031099 Hurst P620SG Svc Package 2 Kit $3.10

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
175031101P MiniMate SIMO HP Valve Block  $631.00 While supplies last
175031102S P620SG/P640xx Screen Package  $16.50
175070100S P630 HP Simo Pump             $3,820.00
175070101 P630 Turbo Pump Plate         $963.00 While supplies last
175070104_C P630 Pump Chamber Cap         $52.00 While supplies last
175070105 P630 Pump Filter              $6.20 While supplies last
175070106_P Bearing Clamp                 $18.60 While supplies last
175070110H_C Ø6.7mm Piston Assembly        $114.00 While supplies last
175070130 ND P630 Pressure Valve Assmbly $87.00 While supplies last
175070140 P630 Sequencing Valve Assembly $229.00 While supplies last
175070141 Valve Catridge                $87.00 While supplies last
175070142 Control Piston D=4.5          $28.90 While supplies last
175070143 Adjustment Screw M10x1        $26.80 While supplies last
175070150 P630 Screw Plug Assembly      $73.00 While supplies last
175070160 HD P630 Pressure Valve Assmbly $56.00 While supplies last
175070201S P630 HP StrmLine Coupling Kit $450.00
175070250S P630 HP TURBO valve           $536.00
175070303 P630 Tank Seal Grommet        $5.20 While supplies last
175070305_C P630 Tank Adapter Fitting -cpl $16.50 While supplies last
175070350_P P630 Hydraulic Tank (Complete) $326.00 While supplies last
175070350S P630 reservoir assembly       $408.00
175070351S P630 Hydraulic Tank Set       $229.00
175070400S P630 Power Unit Frame Kit     $408.00
175070410 P630 Throttle Adjust Bracket  $11.40 While supplies last
175070450S LUKAS-USA P630 Panel Set      $318.00
175070451S P630 Panel Mounting Hardware  $52.00
175070470S P630 Simo Engine Kit          $1,702.00
175070471S Pull Cord Starter Kit         $190.00
175070472S Spark Plug for GX100 Kit      $39.20
175070473S Air Filter Kit for GX100      $89.00
175070474S Spark Arrestor Kit for GX100  $165.00
175070475S Filling Cap (gasoline) Kit    $52.00
175075070S HP P630 Simo Decal Kit        $110.00
175075102_C P630 Pump Shaft               $118.00 While supplies last
175075103_C P630 Balancer                 $16.50 While supplies last
175075310 P630 Adapter Flange           $77.00 While supplies last
175075310S P630 Pump Mounting Kit        $83.00
175201103 THREADED INSERT               $20.60
175301000S P640 SIMO Pump Replacement    $1,696.00
175320100C Engine                        $1,119.00 While supplies last
175320100S B&S Gasoline Engine           $1,140.00
175401000S Hydraulic Pump                $3,467.00
175401100S Control Valve                 $2,324.00
175606300S Tool Holder ,P650 HighPressure $810.00
175608000S Tool Holder, P650 HighPressure $635.00
175635010 P635 Adapter Flange           $79.00 While supplies last
175635010S  mounting flange kit          $79.00
175635011 P635 Electric Motor Mount     $37.10 While supplies last
175635071 P635 Turbo Valve Decal        $6.20 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
175635099 HP P635 Simo Pump Seal Kit    $41.20
175635100S P635 HP Simo Pump             $6,154.00
175635250S P635 HP TURBO valve           $26.80
175635256S P635 Turbo Valve Handle kit   $41.20
175635300S reservoir assembly            $509.00
175635310 P635 Tank Mounting bracket    $16.50 While supplies last
175635350S P635 Hydraulic Tank Set       $147.00
175635400 P635 Frame                    $851.00 While supplies last
175635400S P635 Power Unit Frame Kit     $965.00
175635410 Angle bracket                 $20.60 While supplies last
175635410S P635 SG Support bracket       $71.00
175635411 P635 SE Angle bracket         $18.60 While supplies last
175635411S P635 SE Support bracket Kit   $68.00
175635430S Lukas P635 Side Panel Set     $176.00
175635476S P635 Simo Engine Kit          $2,079.00
175710070 HP Tank Decals (Gas/Hydraulic) $20.60 While supplies last
175710071 HP Turbo Valve Decal (Handle) $18.60 While supplies last
175710072 HP Turbo Valve Decal (Top)    $24.80 While supplies last
175710073 HP Dump Valve Decal (Left)    $11.40 While supplies last
175710074 HP Dump Valve Decal (Right)   $11.40 While supplies last
175710100S P650 HP Simo Replacement Pump $2,567.00
175710120S P650-DHR Simo Pump connection $169.00
175710150_C Ø12mm Piston Assembly         $114.00 While supplies last
175710250S P650 HP TURBO Valve Kit       $633.00
175710255_C Turbo Valve Switch Plate      $58.00 While supplies last
175710256_P10 Turbo Valve Handle, Blue      $14.50 While supplies last
175710257_P10 Handle Back Cover Plate, Blue $8.30 While supplies last
175710260_M Handle Cover Plate Cpl, Blue  $39.20 While supplies last
175710260S Blue Handle Cover Plate Kit   $134.00
175710320S P650 Reservoir Assembly -Lukas $829.00
175710335  P650 Hyd Tank Bracket >>     $357.00 While supplies last
175710403 P650 Tank Support Bracket     $28.90 While supplies last
175710421_P10 P650 HP Control Panel (Blue)  $14.50 While supplies last
175710427S P650 Battery Kit              $328.00
175710451S P650-DHR Power Unit Hose guide $250.00
175710455S P650-DHR Power Unit Frame kit $1,329.00
175710470S P650 Simo w/ES Engine Kit     $3,000.00
175710471S P650 Quad wES Engine Kit      $3,012.00
175710472S P650 EX17 Engine (Prewired)   $1,811.00
175710473S P650 EX21 Engine (Prewired)   $2,007.00
175710476S P650 SE-230V50Hz-DHR Engine   $2,264.00
175710477S P650 SE-230V60Hz Engine Kit   $2,147.00
175710478 Control Panel Cover           $149.00 While supplies last
175710495S Telescopic carrying handle for $654.00
175710670S P650 Bowden Cable Replacement $97.00
175710672S Robin Engine Pull Cord Starter $534.00
175710673S Spark Plug, Subaru Eng on P650 $39.20
175710675S Robin Engine Pull Cord Starter $322.00
175710676S P650 AC Electric ON/OFF Switch $326.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
175710677S P650 SE Power Cable           $435.00
175730003 P650 Rubber Foot, NBR         $12.40 While supplies last
175730003S Rubber pump set               $58.00
175730100_C P650 HP Quad Pump Assembly    $3,550.00 While supplies last
175730100S P650 HP Quad Replacement Pump $5,466.00
175730302S P650 Pump Mounting Kit        $120.00
175730304S P650 Oil Tank Cap (Spare Part) $99.00
175730307 G1" Filler Cap (Modified)     $56.00 While supplies last
175730308 P650 Oil Tank Cap Vent Bushing $12.40 While supplies last
175730309 P650 Oil Tank Cap Vent Sleeve $11.40 While supplies last
175760200S P650 Reservoir assembly-LUKAS $1,117.00
175760210 P650 Hydraulic Tank (Electric) $388.00 While supplies last
175825003S P600 OE Rubber Pump Set       $106.00
175825070S Label Set P600 OE LUKAS       $79.00
175825096 P600 OE Service Kit #2        $141.00
175825099 P600 OE Service Kit #1        $101.00
175825100S P600 OE Hydraulic Pump Kit    $3,832.00
175825102S P600 OE Coupling Kit          $919.00
175825110 Axial BackUp Ring 16 x18.2x1.1 $11.40 While supplies last
175825130S P600 OE Pressure Transmitter  $596.00
175825131S P600 OE Temperature Feeler    $112.00
175825201S P600 OE Filler Cover          $126.00
175825206S P600 OE Filter Element        $112.00
175825212S P600 OE Body Casing w/Hardware $1,236.00
175825220S P600 OE Oil Resevoir          $332.00
175825221S P600 OE Filler Cap            $169.00
175825301S P600 OE Electrical Harness >  $2,078.60
175825310S P600 OE Engine with Transmissi $1,092.00
175825331S Main Switch w/Hardware >      $211.00
175825332S Modified SA Main Switch       $223.00
175825404S P600OE Battery Slot Kit       $169.00
175826070S Label Set P600 ML LUKAS       $39.20
176150105S P650-DHR Screw Connection Kit $182.00
176150120S P650-DHR Simo shaft assembly  $2,079.00
176150121S P650-DHR Simo hose kit        $390.00
176150130S P650-DHR Crank handle + break $608.00
176202099 HP - SHR Service Pack 2       $20.60
176202101S 10k Hose w/Fittings, Blue, 5ft $192.00
176202102S 10k Hose w/Fittings, Grey, 5ft $192.00
176202104S HP - SHR Connection Fitting   $52.00
176503000C 16ft (5m) Streamline Conn Hose $903.00 While supplies last
176503102S Black Streamline HoseGuard Kit $37.10
176513000 30m (98ft) Strmline Conn Hose $2,289.00
176606000C 32.8ft (10m) S-Line Ext Hose  $1,218.00 While supplies last
176610000 20M (66ft) S-Line Ext Hose    $1,892.00 While supplies last
176613000 30M (98ft) S-Line Ext Hose    $2,188.00 While supplies last
176635010S P635 SG reel disk Kit         $390.00
176635110S P 635 SG shaft; M32x1.5 nipple $3,412.00
176704002S Female Coupling Dust Cap(Hard) $41.20

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
176705002S Seal/Fittng for HP-SL Couplers $16.50
176705003S Male Nipple Dust Cap (Hard)   $66.00
176718009_M Spreader Force Test Spacer    $99.00 While supplies last
176718014_M Ø16mm Bolt Replacement        $410.00 While supplies last
176720000 Test Frame for Rams           $5,015.00 While supplies last
176720010S Ram Force Testing Collar      $785.00 While supplies last
177R001 Vibration Mount               $22.70
179001000 High Pressure Relief Valve    $309.00
179001002P Relief Valve Plunger          $14.50 While supplies last
179001003P Relief Valve Adjuster         $11.40 While supplies last
179001005 Relief Valve Spring           $7.30 While supplies last
179001011P Relief Valve Housing          $54.00 While supplies last
179001040 High Pressure Relief Valve    $106.00 While supplies last
179001050_C Relief Valve Cartridge        $106.00 While supplies last
1790023 NUT, ACORN 3/8-16 UNC-2B      $5.20
1790029 NUT, HEX 7/16-20              $5.20
179012000 Sequencing Valve 700bar       $396.00 While supplies last
179014000 E2.0 Sequencing Valve (800bar) $258.00 While supplies last
179015000 E2.0 Sequencing Valve (750bar) $258.00 While supplies last
179016000 E2.0 Sequencing Valve (700bar) $258.00
179017000 E2.0 Sequencing Valve (500bar) $219.00 While supplies last
179018000 E2.0 Sequencing Valve (110bar) $237.00 While supplies last
1793491 NUT, HEX 5/16-18 UNC-2B       $5.20
179R015 NUT, CASTLE 3/4-16 UNF        $45.40
179R017 NUT, ADAPTER                  $161.00
179R024 NUT, HEX M8                   $7.30
179R026 Compression Nut               $157.00 While supplies last
179R027 Hex Jam Nut, 1/2-13, HeavyDuty $9.30 While supplies last
179R031 1 1/8-12 Nylon Insert Locknut $54.00
179R032 Nylon Hex Nut, M24 x 1.5      $12.40
180C012 Hurst HP Hyd Fluid (case)     $178.00
180C026 Finnoly Liquid Teflon, 32oz   $225.00
180R017 1 Gallon Hurst Blue Hyd. Fluid $151.00
180R020 1 Qt. Hurst Blue Fluid        $66.00
180R021 12 Qt. Case of Hurst Blue     $557.00
1890018 CLEVIS LINK PIN               $39.20 While supplies last
189R016 PIN LINK                      $134.00
189R021 CLEVIS PIN                    $41.20 While supplies last
189R033 COTTER PIN                    $5.20
189R059 Mini Lite Spreader Pin        $64.00
189R060 MiniLite Cutter Link Pin      $83.00 While supplies last
189R061 Pivot Pin                     $229.00
189R062 CHALLENGER BLADE/LINK PIN     $206.00
189R067 Blade Pivot Pin               $182.00
189R068 Link Pin                      $58.00
189R069 BLADE LINK PIN                $56.00
189R073 Pin for Defender Tip          $71.00
189R085 MOC Combi Pivot Bar Pin       $71.00
189R086 Pin for Defender Arm to Link  $71.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
189R087 Defender 28 Arm to Pivot Pin  $73.00
189R104 2mm x 6mm Dowel Pin           $7.30 While supplies last
189R108 JL-500 Link Pin               $58.00
189R111 SC757 Tip Pin                 $285.00
191R007 COILED SPRING PIN             $7.30
195R032 GRIPPER PAD                   $91.00
196510001S connection MONO hose M27x1.5  $2,384.00
196510004S connection MONO hose M32x1.5  $2,481.00
196601001S MonoHose Female Coupler Rplc  $513.00
196601003S Dust cap for female coupler Co $33.00
196601004S Dust cap for male coupler Co  $33.00
197R004 Spring Plunger                $24.80
197R004S Spring Plunger (Pack)         $3.10
200-0120-00-0 Starter Button (4-CIRV-0121)  $33.00
202949 P650 Vented Fuel Cap (Lukas)  $39.20 While supplies last
202R002 Hand Protector                $39.20
202R003 RUBBER BOOT                   $7.30
202R009 Vinyl Hand Guard (Black)      $116.00
202R015 Vinyl Hand Guard (JL-500)     $136.00
203871 P650 Carbon Cannister Fuel Cap $81.00
208R006 Spring Retainer               $18.60
208R012 REMOTE VALVE RETAINER         $483.00
208R015 SPRING RETAINER               $28.90
210000076 Hurst Spreader Serial Tag     $24.80 While supplies last
2110011 RING WIPER                    $22.70
211010070S Hurst SP310 Decal Set         $26.80
211030070S Hurst S5P10 Spreader Label Set $28.90
211040070S Hurst SP512 Label Set         $41.20
211R001 BACK-UP RING                  $8.30
211R002 SPLIT BACK-UP RETAINER RING   $14.50
211R005 SPLIT BACK-UP RING            $8.30
211R009 Wear Ring (30 and 60 Rams)    $12.40
211R011 SPLIT BACK-UP RING            $18.60
211R016 Back-up Ring, -032, Split     $22.70
211R017 Back Up Ring, Solid           $18.60 While supplies last
211R018 TEFLON BACK-UP RING           $7.30
211R019 RING-SOLID TEFLON BACK-UP     $8.30
211R023 1500-250BC WEAR RING          $28.90
211R024 2-220 SPLIT BACK-UP RING      $7.30
211R025 WEAR RING                     $10.30
211R026 BACK-UP RING                  $10.30
211R038 Back-up Ring, 2-026, Split    $9.30
211R039 60C RAM BEARING SUPPORT RING  $54.00
211R047 E-Style Retaining Ring        $7.30
211R048 External Retaining Ring       $7.30
211R050 BackUp Ring Assembly          $132.00 While supplies last
211R051 Piston Wear Ring              $250.00 While supplies last
211R055 BackUp Ring Split             $7.30 While supplies last
211R056 Ø22mm Retaining Ring          $10.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
211R076 Retaining Ring, External      $8.30
211R077 BACK-UP RING                  $12.40
211R078 Wiper Ring                    $41.20
211R080 Back Up Ring                  $20.60 While supplies last
211R084 Back-Up Ring, Teflon 2-227    $10.30
211R085 Adjustment Ring               $217.00
211R086 Ring Wiper                    $28.90
211R088 Wiper Ring                    $41.20
211R089 Back-Up Ring                  $8.30
211R093 Internal Retaining Ring       $8.30
211R094 Wiper Ring, Defender          $35.10
211R095 Back Up Ring                  $10.30
211R103 Back-up Ring (Solid)          $10.30 While supplies last
212000070S Hurst S120 Cutter Label Set   $33.00
212040070S Hurst HP Decal Set - Medium   $28.90
213047070S SC557 Hurst Label Kit         $141.00
213R026 JL-8 HANDLE ROD               $81.00
213R029 JL-20C Ram Piston Rod         $398.00
213R030 JL-30C Ram Piston Rod         $441.00
213R031 JL-60C Ram Piston Rod         $709.00
214010070S R410 Ram Decal Set            $68.00
214020070S Hurst R41x Ram Label Set      $66.00
214030070S Hurst R414 set of labels Kit  $28.90
214040070S R420 Ram Decal Set            $68.00
214050070S set of labels R 422           $22.70
215000070 Hurst HP P620er-640er Decal   $22.70 While supplies last
2150030 SCREW, SHCS, 10-32 x .75      $8.30
2150066 SCREW, SHCS, 3/8-16 x 1.75    $6.20
2150076 SCREW, BHCS, 1/4-20 x .62     $8.30
2153427 Screw, HXHD, 3/8-16 x 1       $8.30
215410200S P640SE 220v Motor             $1,822.00
2156647 SCREW HXHD 1/4-20 x .875      $6.20
215R013 SCREW, BHCS, 10-32 x .5       $8.30
215R017 Screw, BHCS, 1/4-20 x 1.25    $8.30
215R048 SCREW SHCS 3/8-16x1 LOW HEAD  $6.20
215R052 Screw, BHCS, 1/4-20 x 3/4     $8.30
215R055 Screw, SHCS, M8 x 30mm        $8.30
215R056 Rabbit Tool Jaw Screw         $91.00
215R058 Screw, SHCS, 5/16-18 x .5     $22.70
215R071 Screw, SHCS, 5/16-18 x 1 AF   $8.30
215R090 SCREW HXHD 5/16-18 x .625     $8.30
215R091 SCREW SHEETMTL 10-24 x .5     $10.30
215R092 SCREW SHCS 10-32 x .25        $12.40
215R094 SCREW BHCS 10-24 x .5         $6.20
215R109 Screw, BHCS, 10-24 x 3/8      $8.30
215R113 SCREW PACKING CGA-347 10-32   $39.20
215R125 SCREW, LUKAS, M6 x 20mm       $2.10
215R126 SCREW HXHD M6 x 60mm          $8.30
215R133 Screw, SHCS, M6 x 16mm        $8.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
215R135 M4 Precision Shoulder Screw   $22.70
215R139 Shoulder Screw, 1/2 x 1.50    $16.50
215R141 Screw, HXHD, M6 x 40mm        $8.30
215R142 Shoulder Screw, 5/8 x 2 1/4   $24.80 While supplies last
215R147 SCREW, HXHD, M6 x 35mm        $8.30
215R166 Screw, SHCS, 3/8-24           $8.30
215R170 Modified Screw                $43.30
215R187 Screw, SHCS M6-1mm x 35mm     $8.30
215R188 Screw, FHCS, M5 x 35mm        $8.30
215R189 Screw, SHCS, M6 x 50mm        $8.30
215R190 Screw, SHCS, M6 x 85mm        $8.30
2160012 T-Ring Piston Seal Set (3 pcs) $52.00
2160038 O-RING                        $10.30
216R009 SEAL-EXCLUDER MOD-30A & 60A   $33.00 While supplies last
216R010 T-Ring Piston Seal Set (3 pcs) $28.90
216R020 T SEAL (3pc)                  $169.00
216R021 WIPER SEAL                    $26.80
216R022 T-Ring Piston Seal Set (3 pcs) $83.00
216R033 1-1/4 Z-Seal (2pc)            $41.20
216R038 LIP SEAL - 6 SERIES PUMP      $35.10
216R053 ML Seal Tube Gland            $47.40
216R055 Piston Seal                   $12.40 While supplies last
216R056 Piston Wiper                  $45.40 While supplies last
216R057 Blade Compression Seal        $231.00 While supplies last
216R063 T-Ring Piston Seal Set (3 pcs) $66.00
216R064 T-Ring Piston Rod Seal (3 pcs) $37.10
216R065 T-Ring Piston Seal Set (3 pcs) $54.00
216R066 T-Ring Piston Seal Set (3 pcs) $103.00
216R067 T-Ring Piston Seal Set (3 pcs) $71.00
218C003 eDraulic Bladder Shield       $10.30 While supplies last
218C004 Ram Bladder Shield            $43.30 While supplies last
218C005 R52x RAM Bladder Shield       $33.00
224R010 Boot                          $8.30
224R015 SEAL GLAND SLEEVE             $229.00
224R027 MOC Combi Seal Gland Sleeve   $202.00
224R031 Piston Sleeve                 $369.00
228R053 RABBIT TOOL FIBERGLASS BOTTOM $41.20 While supplies last
228R085 Thrust Washer/Spacer          $192.00 While supplies last
228R102 Spacer                        $35.10
228R103 Spacer                        $35.10
228R110 Throttle Lever Spacer         $169.00
230R002 COMPRESSION SPRING            $8.30
230R020 Compression Spring            $16.50
230R024 RETURN SPRING                 $97.00
230R029 Return Spring                 $176.00 While supplies last
230R038 Torsion Spring (LP Valves)    $10.30 While supplies last
230R042 Spring for MLS Cylinder       $14.50 While supplies last
242C019 Case Stiffener Upgrade Kit    $351.00 While supplies last
242R011 Frame Stiffener (Series 6)    $108.00 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
244R002 RED LOCKING STRAP             $10.30
244R003 BLUE LOCKING STRAP            $10.30
244R029 StrongArm Shoulder Strap      $159.00 While supplies last
247R012 Ram Handle Support            $30.90
247R018 REEL SUPPORT ROD              $16.50
247R021 FRAME ROD SUPPORT             $103.00
247R028 C-Frame Ram Support           $853.00 While supplies last
247R030 Frame Support (Series 6)      $22.70 While supplies last
248R017 12V Circuit Breaker, 30amp    $52.00
248R026 Motor Switch Size 90          $41.20
248R028 Motor Switch Size 80          $225.00
248R029 EX17/21 MicroSwitch Replacemnt $28.90 While supplies last
2500007 5000 PSI Decal                $12.40 While supplies last
2500008 ARM DIRECTIONAL R/L           $14.50 While supplies last
250C069 STEP 1, eDraulic Tag          $8.30 While supplies last
250C070 STEP 2, eDraulic Tag          $8.30 While supplies last
250R001 INSTRUMENT CONTROL DATA TAG   $10.30 While supplies last
250R005 DIRECTIONAL CONTROL DECAL     $10.30 While supplies last
250R007 Attention Tag                 $8.30 While supplies last
250R010 DIRECTIONAL DATA DECAL        $12.40 While supplies last
250R014 Directional Control Tag       $12.40
250R019 PALADIN CONTROL DECAL         $12.40 While supplies last
250R025 Airbag Instruction Decal      $41.20 While supplies last
250R027 Fluid Warning Tag             $8.30 While supplies last
250R031 ML-40 DIRECTIONAL CONTROL TAG $26.80 While supplies last
250R034 FLUID CAUTION DECAL           $12.40
250R038 HURST ENGINE LOGO DECAL       $14.50
250R039 DUMP VALVE DECAL              $47.40
250R040 SIMO VALVE DECAL              $33.00
251C007 1/8" x 2" x 8" Foam Tape >    $14.50
252R046 Ring Terminal                 $8.30 While supplies last
256R007 D.P.C.V. Retainer Socket      $198.00 While supplies last
260R019 5/32 O.D. NYLON TUBING        $10.30
260R020 3/8 OD Nylon Tubing           $12.40
266R010 NEEDLE VALVE                  $707.00 While supplies last
266R051 5000 PSI Control Valve        $769.00
266R084 190 PSI RELIEF VALVE          $68.00
266R099 125 PSI RELIEF VALVE          $68.00
266R116 Perm-A-Set Regulator          $868.00
266R117 DUAL 3-WAY AIR VALVE          $1,257.00
266R158 Spool Valve, Telescopic Ram   $575.00
266R161 Universal Valve w/Int Relief  $614.00
266R171 1/4-18 Micro Ball Valve FxM   $24.80 While supplies last
266R179 Lifting Airbag Regulator      $897.00 While supplies last
2670037 Special Washer w/Finish       $6.20
2673467 5/16 MEDIUM SPLIT WASHER      $8.30
2673468 1/4" Lock Washer              $8.30
2673475 WASHER PLAIN LIGHT 7/16       $6.20
2673478 1/4 Light Flat Washer         $8.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
2673481 PLAIN WASHER                  $8.30
2674751 1/2" Plain Washer             $8.30
2675712 SPECIAL FLAT WASHER           $6.20
2678742 WASHER, LOCK 0.31             $6.20
2678782 SPECIAL SPACER WASHER         $8.30
267R007 #10 TYPE B PLAIN WASHER       $6.20
267R024 1/4" Lock Washer, Blk Oxide   $8.30
267R033 BELLEVILLE WASHER             $10.30
267R034 SEAL WASHER                   $10.30
267R048 WASHER FLAT M8                $8.30
267R049 M10 Flat Washer               $8.30
267R050 FENDER WASHER                 $8.30
267R053 CRUSH WASHER FOR DRAIN PLUG   $2.10 While supplies last
267R054 M7 Flat Washer                $8.30
267R055 THRUST WASHER                 $60.00
267R059 PIVOT PIN WASHER              $24.80
267R061 Thrust Washer                 $16.50
267R070 Sealing Washer                $10.30
271050070S SP300E Spreader Label Set     $122.00
271050071 Hurst SP-300(E) Arm Decal     $26.80 While supplies last
271051070S set of labels SP300 (HURST)   $81.00
271081070S SP333 Hose Decal Set          $106.00
271081300 SP333 Pump, Assembled         $3,558.00
271086070S SP555 Hose Decal Set          $106.00
271086300 SP555 Pump, Assembled         $3,360.00
271087110S SP777 HURST ARM KIT           $2,345.00
271333070S SP333E2 Decal Set             $149.00
271333110S Hurst SP333 Arm Replacement   $1,375.00
271555070S SP555, SP777 E2 Decal Set     $141.00
271555110S Hurst SP555 Arm Replacement   $1,492.00
272042121S S789 Cylinder Kit - eWXT      $1,813.00
272042300 S788 Pump, Assembled          $3,383.00
272043101S S799 Cylinder Kit - eWXT      $2,326.00
272080070S Hurst S700E Cutter Label Set  $66.00
272080071 Jaws of Life Decal Set        $14.50 While supplies last
272080072 HURST S700E Decal             $26.80 While supplies last
272081070S Hurst HP Decal Kit - Large    $20.60
272085070 Hurst E2 Casing Decal Set     $54.00 While supplies last
272085070S Hurst Label Set eDraulic 2.0  $73.00
272085073 Hurst JoL Small Decal         $12.40 While supplies last
272085073S Hurst JoL Small Decal (pack)  $22.70
272085888 Blade, S700E2 (107Ro)         $452.00 While supplies last
272085888S S700 2.0 Blade & Plate Kit    $448.00
272090070S Hurst S311E/SC350E Label Set  $56.00
273100010S E100 FrontEnd to Pump Seal Kit $47.40
273100011S E100 Check Valve (RVA8) Kit   $81.00
273100070S Label Kit (E100/LE100 Hurst)  $116.00
273100071 StrongArm Hexagon w/S Decal   $8.30
273100072 Hurst White-Out Decal         $10.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
273100072S HJoL Rear Decal (10 pack)     $77.00
273100073 StrongArm Rear Handle Decal   $8.30
273100074 StrongArm Cylinder Decal      $8.30
273100075 StrngArm Pump Side Decal (Hur) $6.20
273100076 S.A. Pump Bottom Decal (Hurst) $4.20
273100098S E100 Hardware Service Kit     $122.00
273100099S E100 Seal Service Kit         $188.00
273100121 E100 Blue Blade Guard Cover   $8.30
273100121S E100 Blade Guard Kit (Blue)   $54.00
273100122 E100 Blue Cylinder Cap        $2.10
273100122S E100 Cylinder Hole Cover Kit  $26.80
273100141 E100 Cylinder                 $485.00
273100141S E100 Cylinder Body Kit        $641.00
273100142 E100 Piston Ring              $258.00
273100142S E100 Piston Ring Kit          $320.00
273100143 E100 Piston Rod               $518.00
273100143S E100 Piston Rod Kit           $752.00
273100155 E100 Torqued Center Bolt Assy $223.00
273100155S E100 Center Bolt Kit          $223.00
273100158 E100 Sliding Plate            $8.30
273100158S E100 Sliding Plate Set        $43.30
273100164 E100 Blade Pin                $45.40
273100172 E100 Spreader Tip w/PB        $89.00
273100173 E100 3-Finger Tip w/PB        $120.00
273100174 E100 2-Finger Tip w/PB        $83.00
273100175 E100 Link                     $116.00
273100175S E100 Link Kit                 $408.00
273100180 E100 Blade Assembly           $380.00
273100180S E100 Blade Kit (Single)       $419.00
273100302 E100 Pressure Tube            $14.50
273100303 E100 Bladder Cover            $8.30
273100303S E100 Bladder Kit              $242.00
273100305S E100 Motor Assembly           $849.00
273100310 E100 Inner Tube               $12.40
273100310S E100 Inner Tube Kit           $87.00
273100315 E100 Protection Sleeve        $8.30
273100315S E100 Relief Valve Set         $211.00
273100327 E100 Bushing Capture Pin      $4.20
273100335 Ø6.5 Piston Assembly          $30.90
273100335S E100 Piston Kit               $268.00
273100340S E100 Bushing/Piston Assy Kit  $132.00
273100343 E100 Control Valve SwitchPlate $87.00
273100344S E100 Stargrip Replace Assy Kit $301.00
273100345 E100 Star Grip Holder         $79.00
273100345S E100 Stargrip Support Ring Kit $242.00
273100350 E100 Torsion Spring Stud      $4.20
273100352 E100 Eccentric Pump Shaft     $122.00
273100352S E100 Pump Shaft Assembly Kit  $242.00
273100354 E100 Centering Ring           $8.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
273100370S E100 Pressure Tube Replacement $71.00
273100501 E100 Blue Motor Cover, Upper  $24.80
273100502 E100 Blue Motor Cover, Lower  $24.80
273100503 E100 Blue Gearbox Cover, Left $75.00
273100503S E100 Blu Pump Case Replace Kit $153.00
273100504 E100 Blue Gearbox Cover, Right $75.00
273100505 E100 Blue Motor Saddle        $33.00
273100507 E100 Blue Intake Filter Cover $10.30
273100507S E100 Filter Service Kit (Blue) $47.40
273100508 E100 Filter Spring Clip       $20.60
273100531S E100 Blu Rear Case Replace Kit $454.00
273100552 E100 Wiring Harness           $97.00
273100552S E100 Push Button Harness Kit  $697.00
273100553 E100 Microswitch Harness      $18.60
273100553S E100 Microswitch Replace Kit  $62.00
273100554S SA Modified Button Harness Kit $320.00
273100610 StrongArm Battery (25.2 Volt) $799.00
273100620 StrongArm 110v Charger (US)   $602.00
273100920 e100 Attachment Strap         $20.60
273100921 e100 Universal Accessory Rail $26.80
273115070S Hurst SC250E Cutter Label Set $180.00
273180121 LE100 Black Blade Guard Cover $12.40
273180121S LE100 Blade Guard Kit (Black) $54.00
273180122S LE100 Cylinder Hole Cover Kit $35.10
273180501 LE100 Blk Motor Housing, Upper $79.00
273180502 LE100 Blk Motor Housing, Lower $79.00
273180503 LE100 Blk Gearbox Cover, Left $81.00
273180503S LE100 Blk Pump Case Replce Kit $153.00
273180504 LE100 Blk Gearbox Cover, Right $81.00
273180505 LE100 Black Motor Saddle      $33.00
273180507 LE100 Black Intake Filter Covr $10.30
273180507S LE100 Filter Service Kit (Blk) $58.00
273180531S LE100 Blk Rear Case Replce Kit $612.00
274080070 Hurst R411E Wrap Decal        $54.00 While supplies last
274080070S Hurst R411E Ram Label Set     $99.00
274085070S R421E2 Set of labels          $33.00
274C004 Hurst HP Cutr/Combi Product CD $14.50 While supplies last
274C018 Hurst HP Ram Tools Document CD $14.50 While supplies last
274C022 Lukas eDRAULIC 2.0 Product CD $12.40 While supplies last
274C024 StrongArm Product DVD         $10.30 While supplies last
275070432 Hurst HP P630 Front/Rear Panel $89.00
275070440 Hurst HP P630 Left Panel      $110.00
275070441 Hurst HP P630 Right Panel     $110.00
275070450S Hurst HP P630 Panel Set       $456.00
275301072S Hurst P640SE Label Set        $75.00
275401072S Hurst P640-TE Label Set       $151.00
275635070S HURST HP P635 Decal Set       $24.80
275635430S HURST HP P635 Panel Set       $952.00
275635431 HURST P635 Front Panel        $184.00 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
275635432 HURST P635 Back Panel         $182.00 While supplies last
275635433 HURST P635 Left Side Panel    $184.00 While supplies last
275635434 HURST P635 Right Side Panel   $192.00 While supplies last
275635435S HURST HP P635 w/Reel Panel Set $553.00
275635475S P635 SE Simo Engine Kit       $2,079.00
275635476S P635 SE Simo Engine Kit       $2,114.00
275710431 P650 Hurst HP Left Side Panel $324.00
275710432 P650 Hurst HP Rear Side Panel $178.00
275710433 P650 Hurst HP Right Panel w/ES $178.00
275710434 P650 Hurst HP Right Side Panel $178.00
275710435 P650 Hurst HP Right Panel (AC) $163.00
275710436 P650 Hurst HP Front Side Panel $538.00
275780435 P650 Quad HP Right Panel (AC) $270.00
275780480S P650 4E-240V60Hz Motor Kit    $4,277.00
275780482S P650 4E-240V60Hz Power Contact $565.00
275825070S Label Set P600 OE HURST       $103.00
275826100S P600 ML Hydraulic Pump Kit    $2,188.00
275826120S P600 ML Valve w. Coupling cpl. $1,988.00
275826201S P600 ML Filler Cover          $242.00
275826212S P600 ML Body Casing w/Hardware $841.00
275826310S P600 ML Engine with Transmissi $738.00
275826404S P600 ML Rear Battery Slot     $130.00
29220102 Condensor Cover               $28.90 While supplies last
29250101 Red ON/OFF Switch             $26.80 While supplies last
296601000 HURST 5M (16ft) Mono-Hose BLU $1,436.00 While supplies last
296604000 HURST 10M (32ft) Mono-Hose BLU $1,797.00 While supplies last
297R004 Screw, SHSS, #10-24 x 3/16    $6.20
297R007 SCREW-5/16-24 X 5/16          $8.30
297R012 Set Screw #10-32 x 1/4 SS 18-8 $8.30
297R012S Set Screw, 10-32 x 1/4" (Pack) $4.20
297R016 Set Screw,1/4-20 x3/8,1/2 Dog $8.30
297R019 Set Screw,1/4-20x .44,DogPoint $8.30
3050003 CLEVIS GRAB HOOK              $54.00 While supplies last
306R004 Hose Guard Color Insert Kit   $16.50
3110000200 Valise Type VSM 14            $697.00 While supplies last
3180003 Ball Penetrator               $8.30
318R001 Ø5/16 Precision Ball          $8.30
319R001 HOSE REEL PANEL               $178.00
319R003 CONTROLLER PANEL (MODIFIED)   $91.00
319R006 HOSE REEL SIDE PANEL          $268.00
328R019 SHAFT-SLIP CLUTCH             $204.00
328R022 CLUTCH, B&S/SMALL HONDA       $215.00
328R023 Clutch, Electric Power Units > $180.00
328R024 HOSE REEL SHAFT               $759.00
328R033 Clutch for Honda GXV-160      $248.00
33400552 Condensor 50MF                $24.80 While supplies last
334R010 Handle Bearing                $35.10
334R013 Handle Bearing                $54.00
334R018 .25 I.D. Roller               $14.50

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
334R019 1.0"  I.D. Roller             $41.20
335R007 TRIGGER-MODIFIED FOR R.T.     $62.00 While supplies last
3370017 O-RING                        $8.30
3370024 O-Ring  3-906 E540-80 (EPDM)  $8.30
3370025 O-Ring .15-.29 (2-007)        $8.30
337C163 O Ring, Ø1 3/16 x 1/8, BUNA   $33.00 While supplies last
337R001 O-RING .55-.691               $8.30
337R005 O-RING .364-.504              $8.30 While supplies last
337R012 O-RING                        $8.30
337R018 Piston Rod O-Ring Ø1.24-1.38  $8.30
337R035 O-RING                        $2.10
337R038 O-Ring   (.239  x .070) Viton $8.30
337R043 O-RING 3-908 EPR              $8.30
337R045 O-Ring, 2-032, EPDM           $8.30
337R049 O-RING 2-008 EPR              $8.30
337R050 O-RING 3-905                  $2.10 While supplies last
337R057 O-RING 2-220 EPR              $8.30
337R067 O-RING 2-234 EPR              $10.30
337R068 O-RING 3-904 EPR              $8.30
337R073 CGA 347 PACKING SEAL          $28.90
337R086 O-RING 2-008 EPDM 90 DURO     $8.30 While supplies last
337R088 O-Ring, Ø9mm x 1mm, EPR       $10.30
337R094 O-Ring, 6mm x 1.5mm, EPR      $14.50
337R098 O-RING 2-112 EPR              $8.30
337R100 O-Ring, Ø5 x 1.6, EPDM-85     $10.30
337R102 2-120 O-RING E540-80 EPDM     $8.30 While supplies last
337R109 O-RING                        $28.90
337R121 O-Ring, 2-216 EPDM, 80 DURO   $8.30 While supplies last
337R122 O-Ring, 2-117 EPDM, 80 DURO   $8.30 While supplies last
337R141 O-RING 2-238 EPDM-80          $10.30
337R143 O-Ring, 13mm x 2.0mm, EPR     $22.70
337R144 O-Ring, 10mm x 1.5mm, EPR     $10.30
337R147 O-RING 2-035 EPDM-80          $8.30 While supplies last
337R149 O-Ring, 3-902, EPDM-80        $8.30
337R150 O-Ring, 2-227, EPR E540       $8.30
337R152 O-Ring, 2-228, EPR E540       $18.60
337R153 O-Ring, 2-011, EPR E0893      $8.30
337R154 O-Ring, 2-012, EPR E0893      $8.30
337R157 O-Ring, 11.1mm x2.0, EPR E0893 $8.30
337R158 O-Ring, 2-111, EPR E0893-80   $8.30
337R159 O-Ring, 2-119, EPR E7502/E7509 $8.30
347R016 Threaded Foot w/Finish        $167.00
347R021 CONICAL POINT ATTACHMENT      $229.00 While supplies last
347R022 WEDGE ATTACHMENT              $229.00 While supplies last
347R023 BASE PLATE ATTACHMENT         $237.00 While supplies last
347R024 V BLOCK ATTACHMENT            $493.00 While supplies last
347R025 JAW ADAPTER (JL32B/27)        $520.00 While supplies last
350R016 DPCV PISTON                   $182.00
350R018 PEDAL CUTTER PISTON           $431.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
350R023 Ram Piston, C Series          $225.00
350R042 MOC Cutter Piston             $357.00
350R047 Piston, Defender 28           $441.00
350R068 X-Tractor Combi Piston        $633.00
350R073 MOC Combi Piston (Steel)      $569.00
350R092 Series 6 ISV Piston           $56.00
350R093 JL-500 Piston                 $371.00 While supplies last
352R008 COVER GASKET                  $43.30
352R009 PUMP GASKET                   $10.30 While supplies last
353R023 20" Pigtail Hose Assy (Black) $198.00
353R118 6 Foot Inlet Air Hose         $71.00
353R123 6ft HOSE 10,000psi 1/4 NPTs   $390.00
353R222 20" - Ø1/4 Pigtail Hose Assy  $83.00
353R289 LP Streamline 12" Pigtail Hose $79.00
353R290 Hose Whips - Black            $83.00
353R302 M12x1.5 Hose w/Female QD      $299.00
353R304 -4 ORFS x M14 12" Pigtail Hose $285.00
353R361 P650 3/8 ID Fuel Line (26.5") $60.00 While supplies last
353R388 6'  Yellow/Yellow Hose (SL's) $380.00
353R389 16' Yellow/Yellow Hose (SL's) $524.00
353R390 30' Yellow/Yellow Hose (SL's) $715.00
353R392 100' Yellow/Yellow Hose (QD's) $1,819.00
353R399 100'  Yel / Yel Hose w/QDs    $1,623.30
353R400 30'  Yellow/Yellow Hose (QD's) $623.00
353R402 16' Yellow/Yellow Hose (QD's) $684.00
354R011 DEEP DRAWN HYDRAULIC RESERVOIR $485.00
354R027 P650 Fuel Tank                $450.00 While supplies last
355R076 10K Handpump w/o Fittings --> $800.00
355R115 Mini Mate Simo Pump           $4,683.00
356R062 GXR120 Honda Engine (P63x)    $1,791.00 While supplies last
3570005 220V AC PLUG                  $110.00 While supplies last
3570007 HOLLOW HEX MAGNETIC PIPE PLUG $6.20
357R003 1/16-27 NPTF Pipe Plug        $10.30
357R020 PLUG-1/4-18 NPT PRESSURE      $8.30
357R021 1/8-27 PRESSURE PLUG          $10.30
357R055 Plug, M14 x 1.5mm             $12.40
357R057 Plug, M10 x 1mm, EPDM         $10.30 While supplies last
3588805 ENGINE SHAFT KEY              $8.30
358C012 StrongArm Groove Runner Key   $12.40 While supplies last
358R001 #6 Woodruff Key               $8.30
358R003 #5 Woodruff Key               $10.30
359R008 FILTER SCREEN                 $12.40
359R010 AIR FILTER ASSY               $419.00
3629005 JL-4 10K EPR Rabbit Cylinder  $956.00
3640004 Systems Eight 2-Link Chain    $28.90 While supplies last
364R010 3/16" Drive Chain             $406.00
364R030 #35 Chain Master Link         $6.20 While supplies last
371086070S SL Spreaders Hose Decal Set   $149.00
371086108 SL528 Cylinder Side Guard     $49.50 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
371086108S SL528 Cylinder Side Cover Kit $139.00
371086110S Hurst SL528 Arm Replacement   $1,651.00
371086130 SL528 Cylinder Cover          $43.30 While supplies last
371086130S SL528 Cylinder Top Cover Kit  $83.00
371087108 SL532 Cylinder Side Guard     $52.00 While supplies last
371087108S SL532 SIDE GUARD KIT          $143.00
371087110S SL532 Hurst Arm Kit           $2,170.00
371087130 SL532 Cylinder Cover          $45.40 While supplies last
371087130S SL532 Cylinder Top Cover Kit  $85.00
375070100S P630 LP Turbo Rplce Pump Assy $4,411.00
375070201S P630 LP StrmLine Coupling Kit $483.00
375070250S P630 LP TURBO valve           $478.00
375070432 Hurst LP P630 Front/Rear Panel $47.40 While supplies last
375070440 Hurst LP P630 Left Panel      $99.00
375070441 Hurst LP P630 Right Panel     $103.00
375070450S HURST LP P630 Panel Set       $215.00
375075070S HURST LP P630 Simo Decal Kit  $16.50
375635070S HURST LP P635 SG Decal Set    $28.90
375635100S P635 SG Simo Pump             $5,076.00
375635250S P635 HP TURBO valve           $8.30
375635430S HURST LP P635 Panel Set       $705.00
375635431 HURST LP P635 Front Panel     $188.00 While supplies last
375635432 HURST LP P635 Back Panel      $147.00 While supplies last
375635433 HURST LP P635 Left Side Panel $186.00 While supplies last
375635434 HURST LP P635 Right Side Panel $192.00 While supplies last
375710070 LP Tank Decals (Gas/Hydraulic) $20.60 While supplies last
375710071 LP Turbo Valve Decal (Handle) $33.00 While supplies last
375710072 LP Turbo Valve Decal (Top)    $12.40 While supplies last
375710073 LP Dump Valve Decal (Left)    $12.40 While supplies last
375710074 LP Dump Valve Decal (Right)   $12.40 While supplies last
375710100_C P650 LP Simo Pump             $2,234.00 While supplies last
375710110_P10 Ø9mm Piston Assembly (LP)     $151.00 While supplies last
375710120_P10 Ø11mm Piston Assembly         $151.00 While supplies last
375710256_P10 Turbo Valve Handle, Black     $14.50 While supplies last
375710257_P10 Handle Back Cover Plate, Black $8.30 While supplies last
375710260_M Handle Cover Plate Cpl, Black $39.20 While supplies last
375710260S Black Handle Cover Plate Kit  $169.00
375710421_P10 P650 LP Control Panel (Black) $14.50 While supplies last
375710431 LP P650 Left Side Panel       $134.00
375710432 LP P650 Rear Side Panel       $182.00
375710433 LP P650 Right Side Panel w/ES $106.00
375710434 LP P650 Right Side Panel      $106.00
375710435 LP P650 Right Side Panel (AC) $116.00
375710436 LP P650 Front Side Panel      $149.00
375710475S P650 SE-230V60Hz Engine Kit   $2,073.00
375730003 P650 Rubber Foot, EPDM        $16.50 While supplies last
375780100S JL-QE-240V60Hz Quad Pump      $3,593.00
375780400S P650 4E-240V60Hz Frame Kit    $497.00
375780435 P650 Quad LP Right Panel (AC) $258.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
375780480S JL-QE-240V60Hz Motor Kit      $4,973.00
375780481S JL-QE-240V60Hz Electric Kit   $668.00
377C367 HP P650 Simo Pump Seal Kit    $108.00
377C369 HP P650 Quad Pump Seal Kit    $262.00
377R054 RUBBER FOOT KIT               $39.20 While supplies last
377R252 C RAM SEAL KIT                $233.00
377R318 MINI CUTTER SEAL KIT          $186.00
377R331 Defender 28 Seal Kit          $431.00
377R334 MOC Cutter Seal Kit           $410.00
377R350 SPOOL VALVE ADJUSTMENT TOOL   $314.00 While supplies last
377R356 CHECK VALVE INSTALATION  TOOL $242.00 While supplies last
377R357 8 POINT 3/8 DRIVE SOCKET      $33.00 While supplies last
377R359 NIPPLE -LARGE O-RING KIT      $39.20
377R362 T-Ram spool valve Seal Kit    $600.00
377R363 LP P650 Simo Pump Seal Kit    $153.00
377R366 LP P650 Quad Pump Seal Kit    $390.00
387C016 Solenoid, 12V. SPST           $188.00 While supplies last
387C039S EMI Toroidal Ferrite (10pk)   $91.00
387C040 Ram Y-Cable Field Kit         $81.00
387R009 Capacitor                     $99.00
387R012 Capacitor 80 mf               $151.00
387R013 Capacitor 100 mf              $169.00
387R014 Capacitor 40uF                $114.00
387R015 12V Circuit Breaker, 25amp    $41.20 While supplies last
387R018 Capacitor, 60 MF, 60Hz        $39.20 While supplies last
387R022 Plastic Condenser Box, 60Hz > $16.50 While supplies last
387R029 P650 Battery Connector        $33.00 While supplies last
387R034 Power Switch >                $30.90 While supplies last
388R013 Terminal Box (Bottom)         $41.20
388R015 Terminal Box Cover            $26.80
389R018 Gear Motor                    $2,071.00
389R037 Motor Fan Cover               $35.10
389R038 Motor Flange                  $83.00
389R040 FAN COVER                     $37.10
392C117 SP310 E2 Cylinder w/Pins      $1,230.00 While supplies last
392R019 30C Ram Cylinder              $664.00
392R028 PEDAL CUTTER HOUSING          $1,589.00
392R045 JL-8 10K EPR Rabbit Cylinder  $1,922.00
392R045K Enerpac Cylinder Seal Kit     $103.00 While supplies last
392R059 MLR-8 Cylinder                $831.00
392R060 Mini Lite Spreader Cylinder   $866.00
392R068 Challenger Cylinder           $2,357.00
392R072 MOC CUTTER CYLINDER           $1,296.00
392R084 Defender 28 Cylinder          $1,597.00
392R088 X-Tractor Combi Cylinder      $1,587.00
392R106 MOC Combi Cylinder (Wide)     $1,096.00
392R111 Compressed Air Cylinder       $5,793.00
392R114 JL-500 Cylinder               $1,267.00 While supplies last
392R118 SC757 E2 Cylinder             $1,566.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
393R018 Rabbit Tool, Upper Jaw        $567.00
393R019 Rabbit Tool Lower Jaw         $668.00
393R020 JL-8 LOWER JAW                $866.00
393R022 JL-8 Upper Jaw                $979.00
393R027 SC757 Removable Tip           $466.00
396R005 USAF HUB                      $204.00
400C149 Programming Adapter  EW/E3/E3C $1,066.00
400C151 Spring Adjustment Tool        $165.00
400R088 Relief Valve Tool             $283.00 While supplies last
400R110 R421 Wrench                   $658.00
402R006 SPROCKET                      $192.00
404R021 C-Ram Handle                  $145.00
404R071 Mighty Lite Front Handle      $318.00
404R083 JL-8 HANDLE                   $342.00
404R102 Mini Lite Spreader Handle -Mod $431.00
404R109 MOC Cutter Handle             $97.00
404R124 Defender Handle (Large)       $95.00
404R125 Transformer Handle            $851.00 While supplies last
404R133 JL-500 Handle Weldment        $355.00
404R139 MOC Combi Handle (Wide)       $390.00
510R056 Pry Bar                       $41.20
510R057 Dead Blow Hammer              $116.00
511R002 Motor Fan                     $18.60
511R004 MOTOR FAN                     $14.50
541R004 CAPS & PLUGS-MODEL 32A        $75.00
542C088 High Pressure Hose Reel (AC)  $3,573.00
700C021 HURST HP P650 Panel kit (Man) $678.00
700C022 P650 HP Hybrid Tank Kit       $1,257.00
700C023 HP P650 Engine Control Switch $672.00
700C024 P650 HP StrmLine Coupling Kit $561.00
700C025 HP P650 Decal Set (All Models) $110.00
700C026 HURST HP P650 Panel kit (wES) $1,315.00
700C028 HURST HP P650 SE Panel Kit    $921.00
700C056 HURST SP310 Spreader Arm (1)  $816.00
700C057 Seal/Fittng for HP-SL Couplers $73.00
700C060 SP300 spreader arm (preassembl $660.00
700C067 HURST HP P650 4E Panel Kit    $975.00
700C094 R421 Battery Slot Filler Kit  $10.30 While supplies last
700C133 Bladder Fitting Set (10 pack) $404.00
700R001 LP P650 Panel Kit (E-Start)   $470.00
700R002 P650 Panel Mounting Hardware  $58.00
700R003 P650 LP Hybrid Tank Kit       $1,257.00
700R004 LP P650 Rubber Feet Kit       $49.50
700R005 LP P650 Engine Control Switch $732.00
700R006 P650 Fuel Pump Kit            $468.00
700R007 P650 LP Simo Replacement Pump $2,687.00
700R009 P650 LP TURBO valve           $594.00
700R010 P650 LP StrmLine Coupling Kit $561.00
700R011 HURST LP P650SE Reservoir Assy $1,154.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
700R015 LP P650 QUAD Replacement Pump $7,600.00
700R016 LP P650 Decal Set (All Models) $99.00
700R017 HURST LP P650 SE Panel Kit    $559.00
700R018 LP P650 Panel Kit (Manual)    $470.00
700R019 P650 Fuel Line Replacement    $206.00
700R020 P650 AC Electric ON/OFF Switch $359.00
700R030 KL-32 Spreader Arm Kit        $777.00
700R032 Spreader Link Pin Kit (LP)    $85.00
700R034 Spreader Link Assembly Kit    $495.00
700R035 LP Spreader Hand Guard Kit    $184.00
700R036 LP Spreader Cylinder Kit      $1,255.00
700R037 LP Spreader Piston Kit        $495.00
700R038 LP Spreader Guide Ring Kit    $371.00
700R039 LP Spreader Forward Handle Kit $157.00
700R040 LP Spreader Valve Block Kit   $705.00
700R041 LP Valve Block Cover Kit      $64.00
700R042 LP Control Valve Assembly Kit $670.00
700R043 ML-28 Label Set               $54.00
700R044 LP Rear Handle Kit            $89.00
700R046 Streamline Fitting Kit (LP)   $22.70
700R047 Black Hose Guard Kit          $14.50
700R048 Strmline Pigtail Hose Kit (LP) $122.00
700R049 QD Coupling Set (LP)          $56.00
700R050 QD Pigtail Hose Kit (LP)      $165.00
700R053 Service Kit 1-Seals (LP Sprdr) $182.00
700R054 Service Kit 2 - Fasteners     $8.30
700R055 Special Pkg 1 (10pk -M3x6mm) > $43.30
700R058 ML-28 Spreader PB Arm Kit  >  $612.00
700R068 HURST LP P650 4E Panel Kit    $740.00
700R100 LP Black Handle Kit w/ Washer $124.00
700R101 Black Hose Guard Kit w/ screws $54.00
700R106 Moc-Combi Arm Kit             $680.00
700R107 Moc-Combi Thrust Washer Kit   $37.10
700R108 Moc-Combi Center Bolt Kit     $239.00
700R109 Moc-Combi Handle Kit          $575.00
700R110 Moc-Combi Link Kit            $1,045.00
700R111 Moc-Combi Piston Kit          $864.00
700R113 Moc-Combi Pivot Bar Kit       $563.00
700R114 Moc-Combi End Cap cpl. Kit    $897.00
700R115 Moc Combi End Cap & seals     $396.00
700R116 Moc-Combi Service Kit         $8.30
700R117 JL500/Moc Piston Seal Kit     $382.00
700R118 JL500/Moc Seal Tube Kit       $95.00
700R119 LP Dual Pilot Check Valve Kit $118.00
700R120 JL500/Moc Label Kit           $45.40
700R121 JL500/Moc Seal Kit            $198.00
700R122 JL500 Handle Kit              $54.00
700R123 JL500 Cover Guard Kit         $60.00
700R124 JL500 Piston Kit              $338.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
700R125 JL500 Cylinder Kit            $1,659.00
700R126 JL500 Pivot Bar Kit           $670.00
700R127 JL500 End Cap Cpl. Kit        $672.00
700R128 JL500 End Cap & Seals         $334.00
700R129 JL500 Service Kit             $8.30
700R130 DPCV Assembly Kit             $110.00
700R131 Quadring Seal Kit             $52.00
700R132 5K Male Streamline Seal Kit   $62.00
700R134 P650 Hydraulic Tank Hose Kit  $93.00 While supplies last
81-10-11 Diamond Tip Set (for PB Arms) $289.00
81-10-12 Lukas SP300 Spreader Arm Set  $719.00
81-10-21 Peeling Tip Set for SP300/310 $394.00
81-10-22 Lukas SP310 Spreader Arm Set  $1,236.00
84053/1370 Duo Coupling MALE (press-line) $136.00
84053/1475 Duo Coupling FEMALE  P&R Lines $231.00
84053/1570 Duo Coupling MALE (ReturnLine) $182.00
84053/3510-01 Dust Cap for SKN2 / SKM1      $16.50
84071/0100-04 Washer                        $18.60
84071/0100-05 Back Up Ring                  $14.50
84071/0602-03 Taper Pin                     $43.30
84071/2-3380 NIPPLE G1/4 / M14x1.5         $62.00
84072/1565-96 Standard parts bag HP 25/T 185 $118.00
84072/1565-99 Spare parts bag HP 25/T 185   $586.00
84072/6680-99 Spare parts bag for ZPH 3/... $320.00
84110/2101-02 Valve Bushing                 $56.00 While supplies last
84110/2101-11 Plunger                       $26.80 While supplies last
84110/2302-03 Spacer                        $22.70 While supplies last
84111/9838-07 Disk                          $52.00
84111/9838-08 Cam Disk                      $126.00
84111/9838-10 Bearing Sleeve                $22.70
84111/9879-03 Hub                           $120.00
84111/9880-02 Valve Stem, Right Hand        $26.80
84111/9880-03 Hub                           $47.40
84111/9935-11 DV Manifold Block             $293.00
84111/9935-20 Pressure Block                $388.00
84111/9951-02 ISV Valve Block Plug          $52.00
84111/9952 MiniMate ISV Valve Assembly   $2,409.00
84120/0102-08 Valve Stem                    $35.10
84120/0102-09 Hub                           $54.00
84120/0102-13 Relief Valve Spring           $12.40 While supplies last
84120/0410-96 Standard parts bag ZPH 3/..   $99.00
84126/5001-09 Conn. socket G1/4-F to G1/4-F $77.00
84126510235 M14x1.5 x M12x1.5 Adapter     $47.40
84132/0403 SPRING RETAINER               $58.00
84136/0038-03 Actuator                      $41.20
84136/0038-04 Sleeve                        $35.10
84136/0038-07 Plug                          $41.20
84136/0040-02 Adjustment Screw              $18.60
84136/0044-02 Filter Screen                 $12.40

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
84136/0854-02 Valve Poppet                  $28.90
84136/0854-05 Compression Spring            $10.30
84136/0867-04 Clutch (Electric Trimo Motor) $396.00
84136/1409-05 Plate                         $83.00
84136/1417 Pump - SEL/DUMP -LKHR149463050 $2,308.00
84136/1417-02 Suction Tube                  $45.40
84136/1417-04 Disc                          $41.20 While supplies last
84136/1432-21 Pump Block                    $882.00
84136/1432-22 Balancer                      $18.60
84136/1434-00H Bypass Valve Block Assembly   $1,158.00
84136/1434-2 LP Pump Flange Assembly       $1,434.00
84136/1502 Simo Pump (LKHR149463060)     $3,700.00
84136/1510 Trimo Pump (LKHR149463070)    $6,428.00
84136/1514-02P25 Drive Shaft                   $235.00 While supplies last
84136/1514-03 Valve Stem, Left Hand Thread  $114.00 While supplies last
84136/1514-04 Balancer                      $145.00
84136/1514-05 Pump Shaft                    $499.00
84136/5508 Connection Tube               $66.00
84136/5508-02 Spring Seat                   $18.60
84136/5517 7mm Piston Assembly (HP)      $445.00 While supplies last
84136/5523 13mm Piston Assembly (LP)     $217.00
84136/5524 8mm Piston Assembly           $281.00
84136/5525 10mm Piston Assembly (HP)     $262.00
84136/5528 13mm Piston Assembly (HP)     $254.00 While supplies last
84136/5530 10mm Piston Assembly (LP)     $182.00
84136/5531 8mm Piston Assembly (LP)      $328.00
84136/5532 13mm Piston Assembly (LP)     $223.00
84136/5537 6mm Piston Assembly (LP)      $355.00
84150/0547-21 Cylinder Sleeve, SP 510       $353.00 While supplies last
84150/0547-75 Piston, SP 510                $532.00 While supplies last
84150/0814 SP310 Dual Pilot Manifold Blk $1,362.00 While supplies last
84150/0814-01 DPCV Block                    $340.00
84150/0814-02 DPCV Piston                   $41.20
84150/0814-02LP LP Shuttle Piston Assy (Replc) $41.20
84150/0814-04 Relief Valve Adjust Plug      $24.80
84150/0814-06 Compression Spring 1x 4 x 7.6 $8.30
84150/0814-13 Ball Valve Poppet             $18.60
84150/0814-15 Relief Valve Retainer         $20.60
84150/0816-01 STARGRIP FOR /0813            $116.00
84150/0816-03 Torsion Spring                $16.50
84150/0816-04 Spring Retainer Sleeve        $12.40
84150/0816-05 BEARING RING                  $41.20
84150/0816-08 Insulating Tube               $10.30
84150/0818-12 Rear Grip Handle (Black)      $62.00
84150/0890-04 Pivot Bar, SP-310E/ML-28/KL-32 $1,142.00
84150/0895-06 Spreader Link                 $151.00
84150/0895-07 Cylinder, SP 310              $1,076.00 While supplies last
84150/0895-09 Defender Arm Pin              $54.00 While supplies last
84150/0895-96 SP310 Spreader Service Pack #2 $163.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
84150/0895-99 SP310/LSP40EN Seal Kit        $244.00
84150/10541 Seal EPDM (50 Durometer)      $66.00
84150/1211-15 Blade - MOC Ultra             $987.00
84150/1211-16 Hurst HP LS-511 / S511 Blade  $1,033.00 While supplies last
84150/1231-01 500 HP Series Cylinder        $847.00 While supplies last
84150/1231-15 MOC II Blade (LS 501B)        $940.00
84150/1231-26 LS501/S510  Blade             $1,463.00 While supplies last
84150/1236-02 500 Series Cutter Piston      $406.00 While supplies last
84150/1236-04 Sleeve Gland-500 Series Cuttrs $167.00 While supplies last
84150/1236-12 Sliding Plate, S and SC 5xx   $30.90 While supplies last
84150/1236-16 S500 Series End Cap           $654.00 While supplies last
84150/1236-96 COMPONENT OFSTANDARD PARTS BAG $14.50
84150/1236-99 Seal Kit (500 Series Cutter)  $167.00
84150/1240-04 Sleeve Gland, 550 CombiCutter $167.00 While supplies last
84150/1240-05 Blade (MOC Combi, LKS55)      $1,094.00
84150/1240-19 Pivot Bar Pin SC557           $178.00 While supplies last
84150/1240-20 Blade/Link Pin SC557          $136.00 While supplies last
84150/1255-31 300 Series HP Cylinder        $1,397.00 While supplies last
84150/1260-96 Spare Parts Bag               $43.30
84150/6055-02 Piston Rod Ø70 (T-59, R424)   $1,976.00
84150/6055-03 Piston Rod Ø45 (T-59, R424)   $468.00
84150/6055-04 Interior Tube (T-59, R424)    $167.00
84150/6055-96 T-Ram Service Pack 2          $62.00
84150/6056-03 Piston Rod Ø45 (T-41, R420)   $375.00
84150/6064-01 Telescopic Ram DPCV Block     $211.00
84150/6090-07 Telescoping Ram Seal Tube     $41.20
84150/6090-99 R41x / LZR12/DIN Seal Kit     $165.00
84150/6091-03 Ø45 T-Ram Piston (R430)       $923.00 While supplies last
84150/6091-06 Interior Tube (T-41, R420)    $217.00
84150/6091-10 Tie Rod (R430)                $524.00 While supplies last
84150/6106-01 Cylinder Barrel (T-41)        $748.00
84150/6106-02 Piston Rod Ø70 (T-41, R420)   $1,234.00
84150/6106-08 Pressure Pipe (T-41)          $91.00
84150/6106-11 Ø32 T-Ram Piston (R430)       $897.00 While supplies last
84150/6106-96 R430 Ram Service Kit 2        $128.00
84150/6106-99 R430 Seal Kit                 $499.00
84150/6225-63 Handle                        $149.00
84150/6239-99 LKS 35EN SEAL KIT             $116.00
84150/6250-33 Spring  0.2 x 2.7 x 5.7       $10.30
84150/7055 Sequencing Valve (140 bar)    $211.00
84150/7055-04 Ball Seat                     $24.80 While supplies last
84150/7060-30 Damping Element               $12.40
84150/7301-06 Rubber Feet Seat              $12.40
84150/7301-15P05 Oil Reservoir                 $386.00
84150/7301-17 Oil Reservoir Cover (Black)   $499.00
84150/7401-13 Spacer Pipe                   $47.40
84150/7401-16 Plastic Connector             $41.20
84150/7401-26 Plastic Connector Screw       $20.60
84150/7413-08 Oil Fill Cap/Level Indicator  $91.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
84150/7601-04 Dip Stick, 6-Series           $79.00
84150/7601-05 Manifold Block Gasket         $8.30
84150/7601-06 Pressure Tube                 $41.20
84150/7601-07 Pressure Tube                 $66.00
84150/7601-12 Reservoir Cover               $705.00
84150/7601-13 Reservoir Cover Spacer        $26.80
84150/7694-01 Hurst SIMO Pressure Tube      $54.00
84150/7694-02 Hurst SIMO Pressure Tube      $66.00
84150/7701-05 Return Tube                   $8.30
84150/7730-06 Adapter,  G1/4 / M10 x 0,75   $52.00
84150/7730-07 Reservoir Check Valve         $244.00
84150/7730-09 Valve Block Gasket Plate      $49.50
84150/7731-02 Plug                          $41.20
84150/7753-04 Guide                         $66.00
84150/7753-05 Guide                         $43.30
84150/7755-02 Plug                          $60.00
84150/7770-01 Check Valve RVB6              $103.00
84150/7773-01 Relief Valve Cartridge        $165.00
84150/7773-02 Adjusting Screw               $43.30
84150/7773-03 Ball Guide                    $28.90
84150/7773-04 Piston                        $52.00
84150/7773-05 Piston Guide                  $81.00
84150/7773-06 Back Up Ring                  $24.80
84150/7773-07 Spring  1.8 x 7.2 x 24        $10.30
84150/7774 Sequencing Valve Assembly  >> $581.00 While supplies last
84150/7850-02 GASKET                        $20.60
84150/7850-03 PRESSURE PIPE                 $262.00
84150/7850-04 PRESSURE PIPE                 $91.00
84150/7850-05 PRESSURE PIPE                 $116.00
84150769102 Reservoir Tank G1/4 drain port $318.00
84155/7412-22 MiniMate Power Unit Frame     $211.00
84156/0815 EPDM Check Valve Assembly     $139.00
84156/6064 T-Ram Manifold LP Assembly    $466.00
84156/7301-10 Rubber Foot  (EPDM)           $12.40
84156/7301-19 Mini-Mate Simo Steel Frame    $198.00
84156/7301-25 Oil Glass Seat                $116.00
84156/7401-22 Oil Reservoir Plate           $631.00
84156/7413-6 DV Valve Assembly             $765.00
84165/0302-10 Valve Seat                    $68.00
84182/1101-06 Link / Blade Pin              $153.00 While supplies last
90-53-13 Lukas E2 Pwr Supply w/Plg 110v $922.00 While supplies last
94-90-01 Vehicle Extrication Textbook  $87.00 While supplies last
95-53-11 StrongArm 230v Charger (DE)   $602.00 While supplies last
95-53-12 StrongArm 12V/24VDC Charger   $602.00 While supplies last
A1009245 Oil Filter Plug               $12.40
B1006016 7/32 BALL                     $8.30
B159167 Gasket - Enerpac Part         $14.50
CL343550 HAND PUMP HANDLE GRIP         $22.70
CR215061SR Service Pin Repair Kit        $26.80 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
CU921028 ENERPAC PART - SCREW          $14.50 While supplies last
DA10378025 Hand Pump Reservoir           $252.00
DA10722108 WASHER                        $41.20
DA6954167 Gasket                        $14.50
DA8307020 End Cap                       $47.40
DA9161070 Handle                        $77.00
DA9533900 FILLER PLUG ASSEMBLY          $143.00
DD1609051 JL-MP Plunger (355R121)       $149.00
DX4452147 JL-MP Release Knob (355R121)  $35.10
HR 1415 87000 Arm Push Button Spring        $12.40 While supplies last
HR 1415 87002 Spring (DPCV Piston)          $8.30 While supplies last
HR 1484 15801 Battery Hold-Down Strap       $14.50 While supplies last
HR 1484 18989 T-Ram Attachment Case         $437.00 While supplies last
HR 1490 00045 Plastic Ball, Ø4.5mm, Olive   $8.30 While supplies last
HR 1490 00046 Ball, Ø4.5mm, Plastic, Blue   $8.30 While supplies last
HR 1490 00047 Ball 4,5mm Plastic            $8.30 While supplies last
HR 1490 14020 Angular Ball Bearing          $291.00
HR 1490 14022 Axial Deep Groove Ball Bearing $89.00 While supplies last
HR 1490 22062 Ball Bearing  (9 x24 x7)      $35.10 While supplies last
HR 1490 55097 Ball, 16mm, DIN 5401          $12.40
HR 1490 82270 Ball Bearing DIN625-608       $24.80
HR 1492 25012 Spring  (0.8 x 5.8 x 36)      $6.20 While supplies last
HR 1492 25012S Spring  (0.8 x 5.8 x 36)      $6.20
HR 1492 25331 Spring                        $8.30
HR 1492 48287 E100 Filter (Upper)           $12.40 While supplies last
HR 1492 48288 E100 Filter (Lower)           $12.40 While supplies last
HR 1492 54042 Knob, Domed                   $14.50
HR 1492 64040 Knob GN563-40-B6              $6.20
HR 1492 77541 Check Valve (RVB 6)           $79.00
HR 1492 77542 Check Valve                   $103.00
HR 1492 77547 Check Valve (RVB4) M10 x 1    $99.00
HR 1492 77547S Check Valve (RVB4)            $85.00
HR 1492 77548 Check Valve RVA8              $91.00 While supplies last
HR 1492 77548S E2 Check Valve RVA8           $99.00
HR 1493 30041 Chain (10mm x 2M w/Hook)      $373.00
HR 1493 30044 Connection Chain for KSV 11/80 $530.00
HR 1493 85156 EX17/21 Engine Filter         $81.00 While supplies last
HR 1493 85803 Robin EX17 Manual Start Engine $1,199.00 While supplies last
HR 1493 85805 Robin Engine Accessories Kit  $427.00 While supplies last
HR 1493 85809 EX17/21 Bowden Cable Replacmnt $97.00 While supplies last
HR 1494 60101 MiniMate Sel. Foot Pad        $12.40
HR 1494 60107 Foot Pad for Series 6, EPDM   $14.50
HR 1494 63517 EPDM Relief Valve Assembly    $169.00
HR 1495 06164 P630 Rotation Seal            $16.50 While supplies last
HR 1495 06165 Lip Seal, WDR A28x40x7, NBR   $10.30 While supplies last
HR 1495 06169 Lip Seal, A55x85x10, NBR      $14.50 While supplies last
HR 1495 06178 Seal                          $10.30 While supplies last
HR 1495 09226 O-Ring, Ø20.29 x 2.62, NBR 90 $8.30 While supplies last
HR 1495 10025 Back-Up Ring                  $35.10 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
HR 1495 10027 Back-up Ring                  $10.30 While supplies last
HR 1495 10032 Back Up Ring                  $8.30 While supplies last
HR 1495 10033 Back-Up Ring                  $8.30 While supplies last
HR 1495 10034 Back-Up Ring BA20D0570-PT00 > $12.40 While supplies last
HR 1495 10035 Back- up Ring, S700           $33.00 While supplies last
HR 1495 10036 Back Up Ring                  $8.30 While supplies last
HR 1495 10037 Back-Up Ring                  $28.90 While supplies last
HR 1495 10038 Back-Up Ring                  $20.60 While supplies last
HR 1495 10062 O-Ring, Ø132.94 x3.53, EPDM-80 $18.60
HR 1495 10063 O-Ring, Ø132.94 x 3.53, NBR-70 $10.30
HR 1495 10064 O-Ring, Ø13 x 1.5, NBR 90     $6.20 While supplies last
HR 1495 10065 Back-Up Ring                  $26.80 While supplies last
HR 1495 10500 Back-up Ring                  $10.30 While supplies last
HR 1495 10501 Back-up Ring                  $12.40
HR 1495 10508 BackUp Ring                   $30.90 While supplies last
HR 1495 10516 O-Ring, Ø1.07 x 1.27, E540-80 $10.30
HR 1495 10555 Back-up Ring 2,6 x 4,5 x 1-PTF $22.70 While supplies last
HR 1495 10564 BackUp Ring (13.5 x 18 x 1.4) $8.30
HR 1495 10567 BackUp Ring (13.2 x 16 x 1)   $10.30
HR 1495 10569 BackUp Ring (14.2 x 17 x 1)   $10.30
HR 1495 10588 O-Ring, Ø14x1.78 PU 90 Shore A $8.30 While supplies last
HR 1495 10593 Back- up Ring 38x34x1.4 PTFE  $12.40 While supplies last
HR 1495 10594 O - Ring 32.99 x 2.62 NBR90   $4.20 While supplies last
HR 1495 10671 O-Ring, Ø64.77 x 2.62, NBR 90 $8.30 While supplies last
HR 1495 10673 BackUp Ring (45 x 51.1 x 1.4) $35.10
HR 1495 10680 Back-up Ring (48.8 x 55 x 1.4) $10.30
HR 1495 10686 BackUp Ring (85 x 81 x 1.4)   $77.00
HR 1495 10687 BackUp Ring (65 x 71.6 x 1.4) $39.20
HR 1495 10703 BackUp Ring (3 x 6 x 1)       $14.50
HR 1495 10707 BackUp Ring (7 x 9.5 x 1)     $8.30
HR 1495 10708 BackUp Ring (7 x 9.5 x 1)     $10.30
HR 1495 10716 Back-up Ring (9.4 x 12 x 1.4) $22.70 While supplies last
HR 1495 10718 Back-Up Ring                  $12.40 While supplies last
HR 1495 10719 Back-up Ring (17 x 14.4 x 1.4) $14.50 While supplies last
HR 1495 10721 Back-up Ring (Solid)          $14.50 While supplies last
HR 1495 10806 BackUp Ring (5.7 x 8 x 1)     $10.30
HR 1495 10809 Back Up Ring                  $79.00 While supplies last
HR 1495 10834 BackUp Ring (30 x 26 x 1.4)   $14.50
HR 1495 10837 Back-up Ring                  $10.30 While supplies last
HR 1495 10839 Back-up Ring                  $14.50 While supplies last
HR 1495 11041 O-Ring, Ø82.27 x 1.78, FKM70  $6.20 While supplies last
HR 1495 11083 O-Ring, Ø52.07 x 2.62, NBR 70 $10.30 While supplies last
HR 1495 11085 O-Ring, Ø71.12 x 2.62, NBR 90 $18.60 While supplies last
HR 1495 11360 O-Ring, Ø29.74 x 3.53, E540-80 $12.40
HR 1495 11370 O-Ring, Ø30 x 3.5mm, NBR 70   $8.30 While supplies last
HR 1495 11414 O-Ring, Ø50.39 x 3.53, NBR70  $6.20 While supplies last
HR 1495 11420 Back-up Ring, 71.91 x 2.18    $24.80 While supplies last
HR 1495 11430 O-Ring, Ø63.09 x 3.53, NBR 90 $8.30 While supplies last
HR 1495 11431 O-RING 63.09x3.53-NBR70       $4.20 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
HR 1495 11432 Backup Ring                   $10.30 While supplies last
HR 1495 11435 O-Ring, Ø66.27 x 3.53, PU70   $16.50 While supplies last
HR 1495 11437 O-Ring, Ø69.52 x 2.62, NBR 70 $10.30 While supplies last
HR 1495 11438 O-Ring, Ø69.52 x 2.62, NBR 90 $6.20
HR 1495 11451 Back-up Ring                  $14.50 While supplies last
HR 1495 11457 O-Ring, Ø102mm x 5mm, E8502   $22.70
HR 1495 11458 Back-up Ring                  $22.70
HR 1495 11507 O-Ring, Ø120 x 3, NBR 70      $8.30 While supplies last
HR 1495 11510 O-Ring, Ø25.12 x1.78, EPDM 80 $8.30
HR 1495 11512 O-Ring, Ø10.82 x1.78mm, EPDM80 $10.30
HR 1495 11514 O-Ring, Ø133.02 x2.62, EPDM 70 $22.70
HR 1495 11518 O-Ring, Ø157.07x2.62, EPDM 80 $16.50
HR 1495 11551 O-Ring, Ø152.07x1.78mm, NBR 70 $10.30
HR 1495 11822 O-Ring, Ø113.97 x 2.62, NBR 70 $22.70 While supplies last
HR 1495 11965 O-Ring, Ø202.57 x 5.33 NBR    $28.90
HR 1495 12258 O-Ring, Ø.082 x 4.0, NBR 70   $10.30 While supplies last
HR 1495 12271 O-Ring Ø164,69x3,53 NBR70     $18.60 While supplies last
HR 1495 12272 O-Ring, Ø164.69 x 3.53 EPDM 80 $91.00
HR 1495 12273 O-Ring, Ø177.39 x3.53, EPDM   $22.70
HR 1495 12274 O-Ring Ø202.57 x5.33 EPDM     $28.90
HR 1495 12280 O-Ring Ø177.37 x 3.53 NBR 70  $28.90 While supplies last
HR 1495 12373 O-Ring, Ø23.52 x 1.78, NBR 70 $6.20 While supplies last
HR 1495 12373S O-Ring (50 pack)              $139.00
HR 1495 12378 O-Ring, Ø37.82 x 1.78, NBR 90 $4.20 While supplies last
HR 1495 13015 Wiper Ring 45X 55X 7/ 5-A5 EP $60.00
HR 1495 13058 Wiper Ring  (45 x 55)         $10.30 While supplies last
HR 1495 13079 Wiper Ring 500 SERIES CUTTER  $28.90 While supplies last
HR 1495 13082 Wiper Ring, 65 x 73 x 7/4     $10.30 While supplies last
HR 1495 13085 Wiper Ring (old style)        $81.00 While supplies last
HR 1495 13233 Wiper Ring, S700 2.0          $10.30 While supplies last
HR 1495 13244 Wiper Ring, 3xx Cutters       $12.40 While supplies last
HR 1495 13263 Wiper Ring, S700              $26.80 While supplies last
HR 1495 13264 Wiper Ring, Ø35mm, R421E2     $8.30 While supplies last
HR 1495 13265 Wiper Ring, SP333             $24.80
HR 1495 13503 Back Up Ring                  $10.30 While supplies last
HR 1495 13520 Wiper Ring                    $10.30 While supplies last
HR 1495 13649 BackUp Ring (65 x 61x 1.4)    $6.20 While supplies last
HR 1495 13843 Wear Ring HF470 0750-14-440   $16.50 While supplies last
HR 1495 13844 Wear Ring HF470 0750-16-440   $16.50 While supplies last
HR 1495 13851 Piston Wear Ring, S700 2.0    $35.10 While supplies last
HR 1495 13852 Piston Wear Ring, S700 2.0    $49.50 While supplies last
HR 1495 13853 Cylinder Wear Ring, S700 2.0  $43.30 While supplies last
HR 1495 13854 Wear Ring (SP333)             $14.50
HR 1495 13857 Wear Ring                     $39.20 While supplies last
HR 1495 13858 Wear Ring HF470 0630-16-440   $18.60 While supplies last
HR 1495 13890 Wear Ring (R430)              $22.70 While supplies last
HR 1495 13895 Wear Ring (R430)              $20.60 While supplies last
HR 1495 14052 Step Seal, SP-300(E) (2 pcs)  $62.00 While supplies last
HR 1495 14055 Step Seal (2 pcs)             $30.90

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
HR 1495 14060 Glydring, 300 Series Piston  > $66.00 While supplies last
HR 1495 14063 Step Seal, SP512 / S700x (2pc) $60.00 While supplies last
HR 1495 14070 Glydring, 500 Series Piston  > $39.20 While supplies last
HR 1495 14080 Glydring, SP-300(E)  >        $62.00 While supplies last
HR 1495 14090 Glydring  >                   $58.00 While supplies last
HR 1495 14091 Glydring  >                   $106.00 While supplies last
HR 1495 14106 Cylinder Glydring, SP510  >   $71.00 While supplies last
HR 1495 14202 Glydring  >                   $64.00 While supplies last
HR 1495 14307 Glydring  >                   $22.70 While supplies last
HR 1495 14547 Glydring (2pc)  >             $24.80 While supplies last
HR 1495 14551 Step Seal, S700 2.0 (2 pcs)   $35.10 While supplies last
HR 1495 14554 Step Seal, SP333 (2 pcs)      $56.00
HR 1495 14612 Glydring (Small, 2pc)  >      $16.50 While supplies last
HR 1495 14652 Glydring, Ø85mm, Z53 (2pc)  > $39.20 While supplies last
HR 1495 14678 Step Seal, R430 (2 pcs)       $20.60 While supplies last
HR 1495 14706 Glydring  >                   $41.20 While supplies last
HR 1495 14709 Piston Rod Seal (R430) (2pc)  $47.40 While supplies last
HR 1495 14731 Excluder EPDM 65x73x4.1 (2pc) $225.00
HR 1495 14740 Glydring (2pc)  >             $66.00 While supplies last
HR 1495 14742 Glydring, S700  >             $66.00 While supplies last
HR 1495 14761 Glydring, R421E2 (2pc)  >     $22.70 While supplies last
HR 1495 14778 Step Seal, Old Style (2 pcs)  $97.00 While supplies last
HR 1495 14809 Glydring  >                   $151.00
HR 1495 14835 Wipers 63 DA17                $10.30 While supplies last
HR 1495 14926 Quadring, Ø8.2 x 1.78, EPDM   $10.30
HR 1495 14938 Quadring (4.47 x 1.78)        $4.20 While supplies last
HR 1495 17021 Usit Ring, EPR                $12.40
HR 1495 17028 Usit Ring, 8mm, EPDM          $14.50
HR 1495 19404 Double Delta Seal (M12) (2pc) $22.70 While supplies last
HR 1495 19405 Double Delta Seal (M12N)      $22.70 While supplies last
HR 1495 21263 O-Ring, Ø21.89 x 2.62, NBR 90 $10.30 While supplies last
HR 1495 29028 Filter Spacer                 $8.30
HR 1495 32619 Sight Glass                   $14.50 While supplies last
HR 1495 39020 Strmline Hose Grd w/Inset, Blk $18.60
HR 1495 39266 Bladder Fitting (Plastic)     $87.00 While supplies last
HR 1495 39266S E2 Lock nipple Kit            $91.00
HR 1495 39267 Coupling 48KBAW13DPX          $134.00 While supplies last
HR 1495 39273 10K Streamline Coupling (thrd) $925.00
HR 1495 40507 O-Ring, Ø5 x 1.6mm, NBR 90    $8.30 While supplies last
HR 1495 42194S E100 Housing Sealing Kit      $26.80
HR 1495 42202 E100 Bladder, HNBR            $30.90 While supplies last
HR 1495 76179 Lip Seal, Mini Mate Simo      $24.80
HR 1495 82270 Lip Seal, 8x22x7, DIN 3760-AS $8.30
HR 1496 12314 Plug 20x20                    $8.30
HR 1496 12504S Hex Cap M4 Nut (60 Pack)      $41.20
HR 1496 12669 Protective Cap                $8.30 While supplies last
HR 1496 12690 P650 Frame Plug Kit           $10.30
HR 1496 12775 Handle Plug                   $8.30
HR 1496 12920 P650 Tank Insulation Pad (4x6) $10.30 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
HR 1496 12924 P635 FILLER CAP GN548-G3/4-A  $14.50 While supplies last
HR 1496 12929_P P650 Fuel Tank Cap            $12.40 While supplies last
HR 1496 18915 Plug, M10 x 1mm BSPP          $10.30
HR 1500 19464 O-Ring, Ø2mm x Ø1.5mm, E515-80 $14.50
HR 1500 28065 O-RING 3.68 x 1.78 EPDM       $8.30
HR 1500 37218 O-RING, 4.70 x 1.42 E540/80   $8.30
HR 1500 40765 O-Ring, 5.00 x 1.50, EPDM-80  $10.30
HR 1500 50007 O-Ring, 6.07 x 1.63, NBR 90   $10.30
HR 1501 25466 O-Ring, Ø18.72 x 2.62, EPDM 80 $10.30
HR 1501 30103 O-Ring, Ø13 x 1mm, NBR 70     $8.30
HR 1501 84307 O-Ring, Ø23.47 x 2.62, NBR 90 $8.30 While supplies last
HR 1502 37864 O-RING, 31.34 x 3.53mm EPDM-80 $10.30
HR 1502 38207 O-Ring, 31.42 x 2.65, NBR90   $10.30
HR 1502 51207 O-Ring 2,6x1,2-FKM80          $8.30 While supplies last
HR 1503 11508 O-Ring, Ø30mm x 1.5, NBR 70   $8.30 While supplies last
HR 1503 11967 O-Ring, 44.12 x 2.62, E540-80 $16.50
HR 1503 15560 O-Ring, 44.04 x 3.53, E540-80 $41.20
HR 1503 27567 O-Ring, 47.29 x 2.62, E540-80 $16.50
HR 1503 83507 O-Ring, 61.6 x 2.62, NBR90    $8.30 While supplies last
HR 1504 37164 O-Ring, Ø75.87 x 2.65, EPDM-80 $24.80
HR 1504 46508 O-Ring, Ø78.97 x 3.53, N7022  $4.20 While supplies last
HR 1506 30407 O-Ring, Ø63 x 4mm, NBR 90     $10.30 While supplies last
HR 1506 30467 O-Ring, 63.00 x 4.00, E540-80 $28.90
HR 1603 17106 Blue Push Button HP P650      $103.00
HR 1603 17117 Amber Push Button LP P650     $103.00
HR 1603 17131 eDraulic Main On/Off Switch   $132.00 While supplies last
HR 1603 17134 E2 Circuit Board Assembly     $355.00 While supplies last
HR 1621 73419 Switch Cover                  $10.30
HR 1640 09107 Electric Motor, Simo P/Unit   $1,442.00
HR 1640 09176 P635 60Hz Motor w/cable       $2,042.00 While supplies last
HR 4062 51460 Screw, M3 x 8mm (DIN 7985)    $8.30
HR 4110 10027S Shoulder Screw M3x12 (50pk)   $384.00
HR 4110 19501S Screw SHCS (50 pack)          $6.20
HR 4110 19514 Screw, SHCS, M6 x 14mm        $8.30
HR 4110 20010S Screw, BHCS  (50 pack)        $6.20
HR 4110 20011S Screw, BHCS (50 pack)         $6.20
HR 4110 20540 Screw, SHCS, M5 x 40mm        $8.30
HR 4110 21301 Screw, SHCS, M5 x 80mm        $8.30
HR 4110 23820 Screw ISO 4762,M6x16-10.9>    $8.30
HR 4110 24540 Screw, SHCS, M6x40mm, 12.9    $8.30
HR 4110 24640 Screw, SHCS, M6 x 45mm (12.9) $8.30
HR 4110 25000 Screw, SHCS, M5 x 25mm        $8.30
HR 4110 27902 Screw, M8x18-8.8, ISO4762     $4.20 While supplies last
HR 4110 33640 Screw, SHCS, M10 x 95mm       $16.50
HR 4115 04400 Screw, FHCS, M4 x 10-8.8      $8.30
HR 4115 04400S Screw, M4 x 10  (50 pack)     $6.20
HR 4115 06426S Screw, M5 x 8  (20 pack)      $6.20
HR 4119 10025S Truss Screw, M10x25 (50 pack) $6.20
HR 4119 31012S Lens Head Screw M3x10 (50pk)  $62.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
HR 4119 31612S Lens Head Screw (10 pack)     $14.50
HR 4119 40612S Lens Head Screw (25 pack)     $35.10
HR 4160 46004S Lens Head Screw (50 pack)     $6.20
HR 4160 46005S Lens Head Screw  (50 pack)    $6.20
HR 4181 47106 Thermoplastic Screw, M3.5x16mm $8.30
HR 4181 47108S Screw 3.5 x12 Torx (Pack)     $4.20
HR 4181 47110S Screw 3,5x10-T15 (50pk)       $75.00
HR 4181 47113S Screw T25 Torx (100 pack)     $151.00
HR 4200 84120 Plug, 1/4-18 NPT              $10.30
HR 4202 16001 Plug DIN  908-M10 x .75       $14.50
HR 4202 84101 Screw, DIN 908, G1/4A-1.0718  $10.30 While supplies last
HR 4262 44000 Screw, SHSS, M6 x 16mm        $10.30
HR 4284 33621S CB Set Screw, M6 x 6 (Pack)   $47.40
HR 4284 37542 Set Screw, M4 x 6, ISO 4028   $6.20 While supplies last
HR 4286 38921 Screw, SHSS, M8 x 40mm        $8.30
HR 4391 36202 1/4-28UNF x 1.1/2 S.H.C.S     $8.30
HR 4407 03400S Nylon Lock Nut M4 (60 Pack)   $4.20
HR 4407 03800 Self Locking Nut, M8          $2.10
HR 4720 04080S Serrated Lock Washer (pack)   $8.30
HR 4760 02402 Retaining Ring, 12x1-1.4122   $6.20 While supplies last
HR 4760 04412 Retaining Ring (Int.) 25 x 1.2 $6.20 While supplies last
HR 4760 04413S Retaining Ring, Ø24 x 1,2 (Pk) $4.20
HR 4760 04421 Retaining Ring, 21 x 1 DIN 472 $4.20 While supplies last
HR 4760 04421S Retaining ring, Ø21 x 1 (Pack) $108.00
HR 4760 05002 Retaining Ring, Ø26 x 1.2mm   $8.30
HR 4760 05002S Retaining Ring, Ø26 x 1,2     $6.20
HR 4761 02202 Retaining Ring, 22 x 1 DIN 472 $8.30
HR 4761 02203S Retaining Ring, Ø28 x 1.2 (pk) $4.20
HR 4761 11501 Retaining Ring, Internal      $8.30
HR 4761 29502 Retaining Ring, External      $8.30
HR 4761 29504 Retaining Ring, Internal      $8.30
HR 4761 29507 Retaining Ring, Internal      $4.20 While supplies last
HR 4761 29507S Retaining Ring (Pack)         $10.30
HR 4766 01620S Retaining Ring, Ø16 (Pack)    $198.00
HR 4781 00401 External Retaining Ring       $8.30
HR 4806 13601 Shaft Key                     $12.40
HR164009157 Electric Motor, 230v, 60Hz    $1,096.00 While supplies last
KT 1484 05724 Seal 7X 15                    $22.70
KT 1490 24052 Ball Bearing (625-6206)       $77.00
KT 1490 55011 Ball, Ø2mm, Steel             $8.30
KT 1490 55020 Ball, Ø3mm                    $8.30
KT 1490 55031 Ball, Ø4mm, Steel             $8.30
KT 1490 55038 Ball, Ø5mm, Steel             $8.30
KT 1490 55042 Ball, Ø5.5mm                  $8.30
KT 1490 55056 Ball, Ø6.35mm (1/4"), Steel   $10.30
KT 1490 55077 Ball, Ø8mm, Steel             $8.30
KT 1490 63536 Pusher Rod                    $8.30
KT 1492 24666 Compression Spring            $8.30 While supplies last
KT 1492 26030 Compression Spring            $10.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
KT 1492 26570 Belleville Washer, DIN 2093-B $8.30
KT 1492 26582 Diaphram Spring, DIN 2093-A 14 $8.30
KT 1492 48239 Vent Plug/Oil Cap (GO-3T)     $35.10
KT 1492 48293 Screen Filter                 $8.30
KT 1492 54041 KNOB, POWER UNIT              $18.60
KT 1495 09051 O-Ring, Ø7.5 x 1.5,  NBR 90   $8.30 While supplies last
KT 1495 09092 O-Ring, Ø8 x 1.5, NBR 75      $8.30
KT 1495 09176 O-Ring, Ø13 x 1.5, NBR 70     $6.20
KT 1495 09193 O-Ring, Ø14 x 3, NBR 70       $8.30 While supplies last
KT 1495 10507 O-Ring, Ø1.07 x  1.27, NBR 90 $8.30 While supplies last
KT 1495 10528 O-Ring, Ø3.7 x 1.78, NBR 90   $8.30 While supplies last
KT 1495 10530 Back Up Ring                  $8.30
KT 1495 10536 O-Ring, Ø5.28 x 1.78, NBR 70  $6.20 While supplies last
KT 1495 10539 O-Ring, Ø5.28 x 1.78, NBR 90  $8.30 While supplies last
KT 1495 10546 O-Ring, Ø6.07 x 1.78, NBR 90  $8.30
KT 1495 10558 O-Ring, Ø9.25 x 1.78, NBR 90  $12.40 While supplies last
KT 1495 10561 O-Ring, Ø10.82 x 1.78, NBR 90 $8.30 While supplies last
KT 1495 10565 O-Ring, Ø12.42 x 1.78, NBR 90 $8.30 While supplies last
KT 1495 10572 O-Ring, Ø14 x 1.78, NBR 90    $8.30 While supplies last
KT 1495 10576 O-Ring, Ø15.6 x 1.78, NBR 90  $12.40 While supplies last
KT 1495 10690 Back-Up Ring                  $85.00 While supplies last
KT 1495 10968 O-Ring, Ø9.2 x 2.65, NBR 90   $8.30 While supplies last
KT 1495 10968S O-Ring (10 pack)              $8.30
KT 1495 10983 O-Ring, Ø15.54 x 2.62, NBR 90 $8.30 While supplies last
KT 1495 11011 O-Ring, Ø25.07 x 2.62, NBR 90 $8.30 While supplies last
KT 1495 11015 O-Ring, Ø26.64 x 2.65, NBR 90 $8.30 While supplies last
KT 1495 11023 O-Ring, Ø29,82 x 2,65, NBR 90 $8.30
KT 1495 11102 O-Ring Ø58,42 x 2,62-NBR 90   $6.20 While supplies last
KT 1495 11141 O-Ring, Ø75.87 x 2.62, NBR 90 $8.30 While supplies last
KT 1495 11152 O-Ring, Ø88.57 x 2.65, NBR 90 $8.30 While supplies last
KT 1495 11315 Back-up Ring (8.7 x 12 x 1.4) $12.40
KT 1495 11315S Back-up Ring (10 pack)        $26.80
KT 1495 11357 O-Ring, Ø25 x 3.55, NBR 90    $6.20 While supplies last
KT 1495 11402 O-Ring, Ø44.05 x 3.53, NBR 90 $16.50 While supplies last
KT 1495 11407 O-Ring, Ø47.22 x 3.53, NBR 90 $8.30
KT 1495 11419 O-Ring, Ø56.75 x 3.53, NBR 90 $8.30 While supplies last
KT 1495 11442 O-Ring, Ø72.62 x 3.53, NBR90  $8.30 While supplies last
KT 1495 11455 O-Ring, Ø82.14 x 3.53 NBR90 > $8.30 While supplies last
KT 1495 11456 Back Up Ring (82.70 x 3.0)    $22.70 While supplies last
KT 1495 11475 O-Ring, Ø98.02 x 3.53, NBR 90 $8.30 While supplies last
KT 1495 11478 Back-Up Ring  (98.58 x 3)     $8.30 While supplies last
KT 1495 13008 Wiper Ring, 25 x33-2511-004.79 $12.40
KT 1495 13013 Wiper Ring, 45 x 55 x 7/5     $10.30 While supplies last
KT 1495 13081 Wiper Ring                    $10.30 While supplies last
KT 1495 13111 Wiper Ring, SP                $16.50 While supplies last
KT 1495 13295 Wiper Ring, 30 x 34           $22.70 While supplies last
KT 1495 13822 Glydring (2pc)                $41.20 While supplies last
KT 1495 13876 Wear Ring, S700               $26.80 While supplies last
KT 1495 14709 Step Seal, 5xx Cutters (2 pcs) $79.00 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
KT 1495 14747 Glydring                      $35.10 While supplies last
KT 1495 14779 Step Seal (2 pcs)             $37.10 While supplies last
KT 1495 14782 Step Seal (2 pcs)             $103.00 While supplies last
KT 1495 14841 Step Seal, SP 510 (2 pcs)     $206.00 While supplies last
KT 1495 14883 Step Seal (R421 E2) (2pc)     $16.50 While supplies last
KT 1495 14925 QuadRing, Ø8.2 x 1.78, NBR70  $8.30 While supplies last
KT 1495 15007 Sealing Ring, 5 x 7.5 (Steel) $8.30
KT 1495 15007S Sealing Ring (Pack)           $8.30
KT 1495 15019 Sealing Ring, 6x10 (Steel)    $6.20
KT 1495 15042 Sealing Ring, 6.5x9 (Copper)  $8.30
KT 1495 15084 Sealing Ring, 10x13.5 (Steel) $8.30
KT 1495 15174 Sealing Ring, 12 x15.5 (Steel) $10.30
KT 1495 15253 Sealing Ring, 14x18 (Steel)   $8.30
KT 1495 15258 Sealing Ring, 14x18 (Copper)  $8.30
KT 1495 15413 Sealing Ring, 8 x22 (Steel)   $10.30
KT 1495 15432 Sealing Ring, 20x24 (Steel)   $8.30
KT 1495 16119 Flat Felt Seal (R430)         $39.20 While supplies last
KT 1495 17012 Usit Ring (5,7 x 9 x 1)       $2.10 While supplies last
KT 1495 17018 Sealing Ring                  $8.30
KT 1495 17044 Usit Ring Mineral Oil         $8.30 While supplies last
KT 1495 17044S Special Package - Usitrings   $52.00
KT 1495 17054 Usit Ring DDM200137-N9MC1     $8.30 While supplies last
KT 1495 28013 Washer, 4 x 8 x 0.5, DIN 988  $6.20 While supplies last
KT 1496 12925 Filler Cap                    $41.20
KT 1496 14828 Compression Fitting           $16.50
KT 1496 18912 Plug M14 x 1.5mm              $16.50
KT 1500 19465 O-RING 2.57 X 1.78            $10.30
KT 1500 37207 O-Ring, 4.7 x 1.42, NBR-90    $8.30 While supplies last
KT 1500 40707 O-Ring, Ø5 x 1.5mm, NBR 90    $10.30
KT 1500 48207 O-Ring, Ø6mm x 1mm, NBR 90    $10.30 While supplies last
KT 1500 48407 O-Ring, Ø6mm x 1.5mm, NBR 90  $10.30
KT 1500 50165 O-Ring, 6.07 x 1.78  E540-80 > $6.20
KT 1500 56265 O-Ring, Ø7mm x 1mm, E8H05-80  $14.50
KT 1500 65007 O-Ring,  Ø8 x 2mm,  NBR 90    $8.30
KT 1500 65007S O-Ring (10 pack)              $6.20
KT 1500 65063 O-Ring, 8.00 x 2.00, EPDM-80  $10.30
KT 1500 80407 O-Ring, Ø10 x 1.5mm, NBR 90   $10.30
KT 1500 88307 O-RING  11 X 1,5-NBR90        $10.30 While supplies last
KT 1500 90207 O-Ring, Ø11.3 x 2.4, NBR 90   $10.30 While supplies last
KT 1500 96207 O-Ring, 12 x 1.5, NBR90       $8.30
KT 1500 96563 O-Ring, 12 x 2, EPDM 70       $8.30
KT 1500 99565 O-RING, 12.42 x 1.78mm EPDM   $10.30
KT 1501 04507 O-Ring, Ø13 x 2mm, NBR 90     $10.30
KT 1501 12665 O-Ring 14.00 x 1.78 (EPDM)    $10.30
KT 1501 25465 O-Ring, 15.6 x 1.78, EPDM80   $10.30
KT 1502 46104 O-Ring, 32.92 x 3.53, NBR90   $8.30 While supplies last
KT 1503 27507 O-Ring, Ø47.29 x 2.62, NBR 90 $8.30 While supplies last
KT 1503 61607 O-Ring, 55 x 3, NBR 90        $10.30 While supplies last
KT 1615 15179 SPRING SUPPORT                $8.30 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
KT 1615 15233 Spring Support, Ball Seat     $14.50
KT 4090 45900 Screw, SHCS, M8 x 16- 8.8-A2E $4.20 While supplies last
KT 4110 16500 Screw, M4 x 10 -8.8, DIN 912  $10.30
KT 4110 16500S Screw SHCS (50 pack)          $6.20
KT 4110 16600 Screw, M4 x 12-8.8, DIN 912   $8.30
KT 4110 16900 Screw, M4 x 16-8.8, DIN 912   $8.30
KT 4110 17200 Screw, M4 x 22-8.8, DIN 912   $8.30
KT 4110 19500 Screw, M5 x 12-8.8, ISO 4762  $6.20
KT 4110 23300 Screw, SHCS, M6 x 8mm         $8.30
KT 4110 23400 Screw, SHCS, M6 x 10 - 8.8-A2E $10.30
KT 4110 23500 Screw, SHCS, M6 x 12 - 8.8-A2E $8.30
KT 4110 24000 SHCS, M6 x 20mm, 8.8-A2       $8.30
KT 4110 24020 SHCS, M6 x 20mm, 10.9         $8.30
KT 4110 24240 Screw, SHCS, M6 x 25mm (12.9) $8.30
KT 4110 24240S Screw, SHCS (25 pack)         $6.20
KT 4110 24420 Screw, M6 x35-10.9, ISO 4762  $8.30
KT 4110 25320 Screw, SHCS, M6 x 80mm        $12.40
KT 4110 27500 Screw ISO4762 M8x12-8.8-A2E   $4.20 While supplies last
KT 4110 28000S Screw, M8 x 20 (Pack)         $4.20
KT 4110 28020 Screw, SHCS, M8 x 20mm        $8.30
KT 4110 28200 Screw, ISO4762-M8x25-8.8-A2E  $4.20 While supplies last
KT 4110 28500 Screw, SHCS, M8 x 40mm, 12.9  $8.30
KT 4110 31600 SHCS, M10 x 16mm              $4.20 While supplies last
KT 4110 31600S Screw, M10 x 16 (Pack)        $43.30
KT 4110 31800 SHCS, M10 x 20mm              $4.20 While supplies last
KT 4110 31800S Screw, M10x20 (50 pack)       $73.00
KT 4114 13320S Screw SHCS (10 pack)          $6.20
KT 4114 19325 Screw, M5 x 10, DIN 7984      $8.30
KT 4114 19325S Screw, M5 x 10 (10 pack)      $6.20
KT 4202 22800 Screw Plug, M18x1.5 (DIN 908) $10.30
KT 4202 84100 Screw Plug, G 1/4" (DIN 908)  $12.40
KT 4204 16000 Plug, M10 x 1, DIN 910        $8.30
KT 4234 27841 SCREW STUD M8 x 60mm          $10.30
KT 4239 21021 Set Screw, M6 x 40mm          $18.60
KT 4239 22020 Pin Screw, M6 x 80mm          $12.40
KT 4280 32720 Set Screw, M5 x 30mm          $8.30
KT 4280 34420 Set Screw, M6 x 6mm (45H)     $8.30
KT 4280 34420S Set Screw, M6 x 6 (Pack)      $6.20
KT 4328 14300 Screw, M3 x 6MM DIN 7500-C    $8.30
KT 4378 03320 1/16-27 Dryseal NPTF Plug     $8.30
KT 4400 90071 Oil Glass Nut                 $10.30
KT 4404 03640 Nut, Hex, 6-8-A3E, DIN 934-M  $8.30
KT 4404 04020 Nut, Hex, M10 BRCF            $8.30
KT 4407 03500 Hex Nut, M5, DIN 985          $8.30
KT 4407 03600 M6 Hex Nylock Nut             $10.30
KT 4452 03620 Acorn Nut, M6 DIN 1587        $8.30
KT 4600 12800 Flat Washer, M6, DIN 125-B    $8.30
KT 4600 16800 Flat Washer, M8, DIN 125-B    $8.30
KT 4600 20500 Flat Washer, M10, DIN 125-B   $8.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
KT 4740 02500 Lock Washer, 2.5 BRCF         $8.30
KT 4740 04400 Lock Washer, M4 BRCF          $8.30
KT 4740 04600 Lock Washer, M6 BRCF          $8.30
KT 4740 04900 Belleville Washer, M8         $10.30
KT 4760 04401S Retaining ring, Ø22 x 1,2 (Pk) $4.20
KT 4760 04801S Retaining Ring Ø24 x 1.2 Kit  $6.20
KT 4760 05601 Retaining Ring, Ø28 x 1.5mm   $8.30
KT 4760 05601S Retaining Ring, Ø28 x 1,5     $6.20
KT 4761 03801 Retaining Ring, 19 x 1,DIN 472 $8.30
KT 4768 05600 Spring Ring, Ø5.4 ID          $8.30
KT 4831 14700 Dowel Pin, M2.5 x 10, DIN 6325 $8.30
KT 4831 17700 Dowel Pin, M3 x 10, DIN 6325  $8.30
KT 4831 17800 Dowel Pin, M3 x 12, DIN 6325  $8.30
KT 4840 16500 Spring Pin, 3 x 6             $8.30
KT 4840 16800 Roll Pin, ISO 8752-3x12-St    $8.30
KT 4840 17100 Roll Pin, M3 x 18, DIN 1481   $8.30
KT 4840 17300 Roll Pin, Ø3 x 22, ISO 8752   $2.10
KT 4840 20200S Spring Pin, 3,5 x 20 (50pk)   $8.30
KT 4840 22800 Roll Pin, ISO 8752-4x12-St    $8.30
KT 4840 24200 Roll Pin, ISO 8752-4x40-St    $8.30
KT 4840 29000 Roll Pin, M5 x 18, DIN 1481   $8.30
KT 4840 29100 Roll Pin, 5x20-St, ISO 8752   $8.30
LK 84150/0547-41 Handguard Washer ID84150054741 $24.80
LK 84150/0895-08 Link to Cylinder Pin          $116.00 While supplies last
LK 84150/6240-01 X-Tractor Combi Cutter Blade  $658.00
LK84136/0038-05 Piston                        $110.00
LK84136/0868-04 Clutch, 700 Series B&S        $49.50 While supplies last
LK84150/0815 DPCV  Assembly  (Mineral Oil) $130.00 While supplies last
LK84150/1165-03 Sliding Plate, S311 / SC357   $16.50 While supplies last
LK84150/1255-08 Link (300 Series HP)          $643.00 While supplies last
LK84150/1256 Center bolt w/Nut 28mm        $268.00
LK84150/6055-41 T-Ram Piston Cap              $66.00
LK84150/6057-08 Pressure Pipe Clamp (LP Rams) $79.00
LK84150/6057-09 Piston Stop Ø50               $99.00
LK84150/6063-08 Connecting Seal Tube          $22.70
LK84150/6106-04 Oil Supply Ring               $66.00
LK84150/6106-80 BackUp Ring, Concave          $16.50
LK84150/6106-81 BackUp Ring, Concave          $16.50
LK84150/6219-04 Sleeve Gland / Guide Ring     $12.40 While supplies last
LK84150/6240-04 Sleeve Gland-SC350(E)/SC357(E) $165.00 While supplies last
LK84150/7050-86 Bladder Flange                $66.00 While supplies last
LK84150/7301-14 Return Tube                   $28.90
LKHR 1494 63020 High Pressure SIMO Pump       $1,620.00
LKHR 1494 63030 High Pressure TRIMO Pump      $2,724.00 While supplies last
LKHR 1495 10661 O-Ring, 64.77 x 2.62, EPDM-80 $16.50
LKHR 1495 10685 BackUp Ring (65.5 x 70 x 1.4) $16.50
LKHR 1495 11063 O-Ring, 26.64 x 2.62, E540-80 $12.40
LKHR 1495 14071 Glydring                      $47.40
LKHR 1495 14112 Step Seal (2 pcs)             $41.20 While supplies last

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
LKHR 1495 14698 Glydring (2pc)                $47.40 While supplies last
LKHR 1495 14699 Glydring (2pc)                $41.20
LKHR 1495 14904 Glydring (2pc)                $41.20
LKHR 1495 37205 M12 Gray Pigtail Hose         $62.00 While supplies last
LKHR 1495 37206 M12 Blue Pigtail Hose         $62.00 While supplies last
LKHR 1495 39246 Female QD Coupling            $103.00
LKHR 1495 39247 Male QD Coupling              $81.00
LKHR 1501 96667 O-Ring, 25.07 x 2.65, EPDM-80 $16.50
LKHR 1503 11907 O-Ring, Ø44.12 x 2.62, NBR 90 $12.40 While supplies last
LKHR 1640 09126 Electric Motor 230V 60Hz 2.6kW $1,045.00
LKKT 1495 14905 Glydring                      $22.70 While supplies last
LKKT 1495 36274 Red 3m Hose, M14-G1/4 AG      $126.00
P141K2 P141 ENERPAC PUMP REPAIR KIT  $237.00 While supplies last
P20857 ENERPAC CROSS PIN             $24.80 While supplies last
U132010025 JL-MP Reservoir (355R121)     $254.00
V84072/1565-03 Piston 2 HP 25/T 185          $1,047.00
V84072/3765-02 Piston 1 HP 25/T 450          $3,647.00
V84072/4615 Valve 580 bar piston side, cpl $590.00
V84072/4616 Valve 580 bar rod side, cpl   $604.00
V84072/4665-05 Guiding ring cpl.             $689.00
V84072/4665-06 Piston guard plate            $198.00
V84072/6680-03 Piston cpl.                   $252.00
V84072/6680-10 Bracket for pump lever, cpl.  $285.00
V84072/915121 Drain Screw Kit               $4.20
V84072/9151-21 Drain screw kit               $12.40
V84111/9953 Two Flow Block GS-2, CPL.     $2,608.00 While supplies last
V84120/0102-05 Swith-over piston cpl.        $141.00
V84120/2003-5 Internal valve parts DVB ZPH  $101.00
V84136/0867-04 Coupling (Complete)           $85.00
V84136004303 Pipe Plug G1/4                $66.00
V84150/0547-99 SEALING SET                   $400.00
V84150/0550-20 VET LSP60 EN JAW TIP          $800.00
V84150/0570-20 SP 512 Arm Tip Replacement    $480.00
V84150/0570-99 SP512 Service Package 1       $145.00
V84150/0816-01 Star Grip Assembly Kit        $330.00
V84150/0816-03 S120 Leg Spring Kit           $54.00
V84150/0890-04 Spreader Pivot Bar Kit        $697.00
V84150/0895-07 Cylinder Kit SP310            $1,321.00
V84150/1054-0 HP Reservoir Seal NBR         $101.00
V84150/1165-03 Shim Plates (28mm) for LS 300 $45.40
V84150/1236-03 PRESSURE PIECE                $960.00
V84150/1236-04 GUIDE RING, INCLUDING: GASKET, $538.00
V84150/1236-08 LEVER, INCLUDING:CYLINDER PIN $1,255.00
V84150/1236-12 Sliding Plate Set  (2 Pieces) $56.00
V84150/1240-04 SC757E2 Sleeve Gland Kit      $392.00
V84150/1240-18 SC557 Link Kit                $1,424.00
V84150/1255-08 SC350 Link Kit                $1,109.00
V84150/1255-13 Piston with Seals             $480.00
V84150/1255-14 GUIDE RING, INCLUDING: GASKET, $398.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
V84150/1258 SC357/CEN 6 End Cap Kit       $629.00
V84150/1301-05 S 311 Blade w/Sliding Plate   $874.00
V84150/587203 P635 hose protection set kit  $43.30
V84150/5872-03 Hose Reel Protective Covers   $14.50
V84150/5881 HP DHR Brake Assembly         $99.00
V84150/6055-40 T-Ram Claw w/O-Ring Kit       $180.00
V84150/6056-03 R420 Piston 2 (pre-assembled) $1,908.00
V84150/6057-06 Ram base claw Kit             $476.00
V84150/6063-08 Connection Piece 1 Kit        $73.00
V84150/6090-07 Telescoping Ram Seal Tube Assy $116.00
V84150/6090-09 R 410 lock Kit                $30.90
V84150/6091-05 Piston Disk Ø50, CPL.         $839.00
V84150/6101-10 Rescue Ram Claw               $242.00
V84150/6225-04 Pivot Bar Pin                 $43.30
V84150/6225-12 Sliding Plate Set             $77.00
V84150/6225-18 Blade Pivot Pin (includes Nut) $365.00
V84150/6240-01 LKS35/LKE 70 Blade/Plate Kit  $1,094.00
V84150/6240-04 SC350/SC357 Guiding Ring Kit  $248.00
V84150/6249-03 Piston Pump w/Seals (HP Combi) $252.00
V84150/6249-17 Bellows -inc. Plugs,Orings,etc $186.00
V84150/6260-12 LS330 EN Cutter Blade w/Plate $913.00
V84150/7050-51 24v DC Motor                  $1,269.00
V84150/7050-52 Coupling                      $77.00
V84150/7060-80 Electrical Component Set      $388.00
V84150/7301-10 Rubber Bumper Kit             $141.00
V84150/7412-22 Roll Cage Complete            $439.00
V84150/7413-52 Rubber Foot Kit (4ea)         $39.20
V84150/7601-21 Bumber Foot                   $143.00
V84150/9190-01 Quick Kick Pin Assembly       $122.00
V84150/9190-01 Quick Kick Pin Assembly       $122.00
VDI-201505-1 757 Force Tester Arm Adapter  $233.00
VDI-201505-2 757 Force Tester Arm Adptr Pin $18.60
VDI-201845-1 SC758 Force Test Tip          $956.00
VDI-201845-2 SC758 Force Test Tip Pin      $495.00
VMO-0306 Ø75mm Calibration Shell       $1,037.00
VMO-0306 Ø75mm Calibration Shell       $1,037.00
VMO-0510 Ø26mm Center Bolt Guide       $921.00
VMO-0510 Ø26mm Center Bolt Guide       $921.00
VMO-0711 Ø40 Glydring Assembly Set     $907.00
VMO-0711 Ø40 Glydring Assembly Set     $907.00
VMO-1001S Vise Jaw Set                  $4,543.00
VMO-1001S Vise Jaw Set                  $4,543.00
VMO-1008 Expansion Sleeve >            $1,008.00
VMO-1008 Expansion Sleeve >            $1,008.00
VMO-1009 Ø80mm Calibartion Shell       $686.00
VMO-1009 Ø80mm Calibartion Shell       $686.00
VMO-1010 Calibration Insert >          $520.00
VMO-1010 Calibration Insert >          $520.00
VMO-1027 300E 2.0/1.0 Piston Wrench    $781.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
VMO-1027 300E 2.0/1.0 Piston Wrench    $781.00
VMO-1405 Guide for Glydring KT149514747 $934.00
VMO-1405 Guide for Glydring KT149514747 $934.00
VMO-1406 Expansion Sleeve for >        $1,142.00
VMO-1406 Expansion Sleeve for >        $1,142.00
VMO-1409 Piston Assembly Guide >       $1,037.00
VMO-1409 Piston Assembly Guide >       $1,037.00
VMO-1410 700 E2 Pin                    $493.00
VMO-1410 700 E2 Pin                    $493.00
VMO-1411 700 E2 Piston Wrench          $1,251.00
VMO-1411 700 E2 Piston Wrench          $1,251.00
VMO-201417 Guide for Glydring Ø55        $757.00
VMO-201417 Guide for Glydring Ø55        $757.00
VMO-201418 Expansion Sleeve >            $1,125.00
VMO-201418 Expansion Sleeve >            $1,125.00
VMO-201419 Ø55mm Calibartion Shell       $649.00
VMO-201419 Ø55mm Calibartion Shell       $649.00
VMO-201420 Calibration Insert >          $312.00
VMO-201420 Calibration Insert >          $312.00
VMO-201421 SP333 Glydring Guide Device   $717.00
VMO-201421 SP333 Glydring Guide Device   $717.00
VMO-201423 Expansion Sleeve, SP777       $1,047.00
VMO-201423 Expansion Sleeve, SP777       $1,047.00
VMO-201424 Ø90mm Calibration Shell       $868.00
VMO-201424 Ø90mm Calibration Shell       $868.00
VMO-201443 Ø57 Piston Rod Guide          $1,037.00
VMO-201443 Ø57 Piston Rod Guide          $1,037.00
VMO-201602 Inner Tube Seal Sleeve        $262.00
VMO-201602 Inner Tube Seal Sleeve        $262.00
VMO-201603 Step Seal Device SP555        $1,037.00
VMO-201603 Step Seal Device SP555        $1,037.00
VMO-201604 Step Seal Device SP333        $1,383.00
VMO-201604 Step Seal Device SP333        $1,383.00
VMO-201605 Pivot Bar Seal Sleeve SP333   $478.00
VMO-201605 Pivot Bar Seal Sleeve SP333   $478.00
VMO-201606 Pivot Bar Seal Sleeve SP555   $365.00
VMO-201606 Pivot Bar Seal Sleeve SP555   $365.00
VMO-201609 Pivot Bar Assy. Device SP55   $1,037.00
VMO-201609 Pivot Bar Assy. Device SP55   $1,037.00
VMO-201610 SP333 Pivot Bar Mount Device  $1,566.00
VMO-201610 SP333 Pivot Bar Mount Device  $1,566.00
VMO-201611 SPxxx Cylinder Bolt Pin       $262.00
VMO-201611 SPxxx Cylinder Bolt Pin       $262.00
VMO-201615 Guide for Piston Wrench       $285.00
VMO-201615 Guide for Piston Wrench       $285.00
VMO-201616 Piston Mount Base Plate SP333 $843.00
VMO-201616 Piston Mount Base Plate SP333 $843.00
VMO-201617 Cylinder Mallet Brace SP333   $2,419.00
VMO-201617 Cylinder Mallet Brace SP333   $2,419.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
VMO-201618 Cylinder Mallet Brace SP555   $571.00
VMO-201618 Cylinder Mallet Brace SP555   $571.00
VMO-201619 Piston Assy. Base Plate SP555 $649.00
VMO-201619 Piston Assy. Base Plate SP555 $649.00
VMO-201624 S377/SC358 Piston Wrench      $890.00
VMO-201624 S377/SC358 Piston Wrench      $890.00
VMO-201625 Piston Rod Guide SC358        $985.00
VMO-201625 Piston Rod Guide SC358        $985.00
VMO-201626 Ø30mm Center Bolt Guide       $604.00
VMO-201626 Ø30mm Center Bolt Guide       $604.00
VMO-201627 Stop Pin for Piston Rod SC358 $336.00
VMO-201627 Stop Pin for Piston Rod SC358 $336.00
VMO-201628 Step Seal Device, S312/SC358  $1,348.00
VMO-201628 Step Seal Device, S312/SC358  $1,348.00
VMO-201636 Inner Tube Calibration Shell  $262.00
VMO-201636 Inner Tube Calibration Shell  $262.00
VMO-201637 Step Seal Device SP777        $2,211.00
VMO-201637 Step Seal Device SP777        $2,211.00
VMO-201638 SP777 Pivot Bar Mount Device  $2,178.00
VMO-201638 SP777 Pivot Bar Mount Device  $2,178.00
VMO-201639 Guide for Piston Wrench SP777 $497.00
VMO-201639 Guide for Piston Wrench SP777 $497.00
VMO-201640 Piston Mount Base Plate SP777 $629.00
VMO-201640 Piston Mount Base Plate SP777 $629.00
VMO-201703 Ø33mm Pivot/Center Bolt Guide $520.00
VMO-201703 Ø33mm Pivot/Center Bolt Guide $520.00
VMO-201704 Step Seal Device S788         $1,296.00
VMO-201704 Step Seal Device S788         $1,296.00
VMO-201707 Step Seal Device SC258        $1,348.00
VMO-201707 Step Seal Device SC258        $1,348.00
VMO-201710 Piston Rod Guide SC258        $604.00
VMO-201710 Piston Rod Guide SC258        $604.00
VMO-201711 Stop Pin for Piston Rod SC258 $544.00
VMO-201711 Stop Pin for Piston Rod SC258 $544.00
VMO-201712 SC258 Piston Wrench           $643.00
VMO-201712 SC258 Piston Wrench           $643.00
VMO-201715 S799 Piston Wrench            $1,782.00
VMO-201715 S799 Piston Wrench            $1,782.00
VMO-201807 Guide for Glydring HR149514741 $721.00
VMO-201807 Guide for Glydring HR149514741 $721.00
VMO-201808 Step Seal Device S799         $3,062.00
VMO-201808 Step Seal Device S799         $3,062.00
VMO-201810 Ø37mm Center Bolt Guide       $561.00
VMO-201810 Ø37mm Center Bolt Guide       $561.00
VMO-201827 Ø35mm Piston Rod Mount Pin    $437.00
VMO-201827 Ø35mm Piston Rod Mount Pin    $437.00
VMO-201848 SC758 Piston Wrench           $1,813.00
VMO-201848 SC758 Piston Wrench           $1,813.00
VMO-201849 SC758 Step Seal Assy. Device  $3,187.00

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 



Hurst Jaws of Life - Parts
Effective 1/1/2023

PRICE LIST 2023

Spare Parts Price List
CONFIDENTIAL DO NOT DISTRIBUTE

Part Number Description List Price Supply available
VMO-201849 SC758 Step Seal Assy. Device  $3,187.00
VMO-201850 SC758 Piston Rod Guide        $775.00
VMO-201850 SC758 Piston Rod Guide        $775.00
VMO-201904 Gyldring Assembly device SC758 $1,115.00
VMO-201904 Gyldring Assembly device SC758 $1,115.00
VMO-201905 Housing Clip Device           $4,143.00
VMO-201905 Housing Clip Device           $4,143.00
VMO-202004 S378 Piston Holding Fixture   $682.00
VMO-202004 S378 Piston Holding Fixture   $682.00
VMO-202022 R42X Ø35 Step-Seal Device     $285.00 While supplies last
VMO-202027 R521 Ø35 Step-Seal Device     $285.00
VMO-H8909 Gyldring Assembly Set >       $705.00
VMO-H8909 Gyldring Assembly Set >       $705.00
VMO-H9130 Seal Tube Sleeve              $520.00
VMO-H9130 Seal Tube Sleeve              $520.00
VMO-H9211 Ø85mm Calibration Shell       $1,066.00
VMO-H9211 Ø85mm Calibration Shell       $1,066.00
VMO-H9323 Expansion Sleeve for >        $934.00
VMO-H9323 Expansion Sleeve for >        $934.00
WMO-0404 Wrench for Claw Receiver      $779.00
WMO-0404 Wrench for Claw Receiver      $779.00
WMO0506S Check Valve Install Tool      $736.00
WMO0506S Check Valve Install Tool      $736.00
WMO0703S Guide Ring Install Tool, S120 $989.00
WMO0703S Guide Ring Install Tool, S120 $989.00
WMO-201414 R421 Piston Wrench            $536.00
WMO-201414 R421 Piston Wrench            $536.00
WMO-201416 SA Piston Wrench              $715.00 While supplies last
WMO-201602 Piston Mount Pin SP555        $262.00
WMO-201602 Piston Mount Pin SP555        $262.00
WMO-201607 Piston Mount Pin SP777        $728.00
WMO-201607 Piston Mount Pin SP777        $728.00
WMO-201803 Piston Assembly Guide S799    $643.00
WMO-201803 Piston Assembly Guide S799    $643.00
WMO-202002 S378 Pivot Bar Install Wrench $342.00
WMO-202002 S378 Pivot Bar Install Wrench $342.00
WMO-202004 S378 Cylinder-Piston Brace    $427.00
WMO-202004 S378 Cylinder-Piston Brace    $427.00
WMO-202006 S378 Piston Guide Device      $314.00
WMO-202006 S378 Piston Guide Device      $314.00
XXHR 4286 34620 Set Screw, M6 x 10mm, ISO 4029 $8.30
XXHR 4286 34620 Set Screw, M6 x 10mm, ISO 4029 $8.30

All Rights Reserved, Copyright 2022, Pricing subject to change without notice 


